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Question Paper Title : TAIT_PAPER_17

Date of Exam : 2017-12-19 16:00:00.0

1 Out of the given options, choose the most appropriate one to fill in the blank.
They the bridge for several months.

A.have been building

B.has been building

C.has built
D.has build
Answer: A.have been building
2 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in

meaning to the underlined word from the given options.
Immigration is a controversial issue in many countries.

A.Undisputed
B.Disputable
C.Debatable

D.Arguable

Answer: A.Undisputed

3
Vida ,
Nry
A. 3/4
B. 5/4
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Which of the following device is used to measure the potential difference in a given circuit?

f o bla LS A S S ilay (S (38 ~iSan e G s e (oasS Jlantiad 1S () 03 S s e a3 an i

A3
A. Ammeter
A. fix

B.Eleeiiex
B. Voltmeter
B._iw &y

C TMeegAIHeR

C. Galvanometer
C. faasil 518

D3R

D. Insulator
D. sid susil

B. I iHex

B. Voltmeter
B. i &l

3ffegie yrRumH

Identification can result in

foham UiRId ki U goRT GUaTd BidTd

or conforming to the expectations of admired person

ol S B S lpadd - sden )l b g it 5L calis

A 3FHRTT

A.Imitation
AL

B.3{bId Bl
B.Imprinting
B. gl S g
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c.ArsfT

C.Modeling
C. &5 5a

D. 3{JRUT HR0f
D.Following
D.sson

Answer:  C.HAlSfcN

C.Modeling
C.Kil8 5

6 7 41, IR ATl Srdidhe dae SATfOT STuRE! 12 T, =1erd Telt. G5 off Srdidhs doell i 4 41,
TTCCl 9 AR ol Sold s dad! 30T ST JabhTH! Ugaet ST 3MTaT fod e gd fa= 38, AT
YT AT BT fE=g & bl gial?

After walking for 7 m, Sonali turned to her left and walked another 12 m. Again she turned to her left
and walked for 4 m after which she turned to her right and reach her destination and now she is facing
east. In which direction did Sonali start her journey?

7 = S5 ails il ) s semes ol - o Gl SO e 12 1 sl o Sl e il il Ll lise oy S il i
Gila (S G gyl Dl sl - o o @ SS e G D) 2 S0e il G G e S o Sla S5 e 4
LS g ool o Wl e Crans S 5 (Mg - -

ATEH
A.West
A2

B.qd

B.East
B.3 e

C.3R
C.North
C.osa

D.Gféfor
D.South
D.Jki

Answer: D .cf&ur
D.South
D.Jl
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T e T aies o STeR Plal.
DIRECTIONS: Find the odd one out from the given alternatives.

5RO S S o e e ol K3 s

A HSEH
A.Oasis
ALl

B. &R

B.Fountain
B.o_)s8

C.HIN&
C.Mirage

C.l

D.d®
D.Pond
D.yu

C.HISIs
C.Mirage
C.ol

THHEN Th 3T g 318 S Wit

A herbivore is any organism that consumes

SQ) U lails S herbivore — S

A TSt
A.Autotrophs
A.sds 5

B.WRIdcialt
B.Heterotrophs
B.osd s s i

C.guhorY
C.Saprophages

C.oKd s
D feerafes

D.Detritivores
D.osmossib fia
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A TggaTSt
A.Autotrophs
A A5
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HATed] ST et aatdid ad 35 a8 gid. fohd! auiHaR datdid ad diedl JaTedT aar 6 UT 3d?

At the time of his son’s birth, the age of a father was 35 years. After how many years the father will be 6
times as old as his son?

€S jee S Hn S5 ed3 W6 see S A5 am Ji 5K g8 Js 35 yae S Al 5 iy S ¥y S S

A5
A5
A5

B.6
B.6
B.6

C.7
C.7
C.7

D.8
D.8
D.8

C7
C.7
C7

T@IE Hd JoRTe 3edr d I Te07 3]

If a child is creative it is a sign of his

ﬁﬁm%éw\ﬁ%hﬁﬁw@dﬁ\;\

A gfgH

A.Intelligence
Al

B el SR ORIk
B.Good memory
B.udls ol e
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5040 T DIV HHIT B WSAT SSdll STd SAes Teh Ui vl [ a?

What least number should be added to 5040 to get the sum a perfect square?

C. gorRfierdr

C.Creativity
C.cuadla adas

RURIKIN
D.Memory loss
D.obaiti 1S il

C. gorfierdr

C.Creativity
C.andla adas
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A1
A1
A1

B.5
B.5
B.5

C.6
C.6
C.6

D.8
D.8
D.8

A1
A1
A1
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12 GIHT: U URATAT Uh U faymriad IR fauM siigd sai=araredl A, B, C 311f01 D 31 IR fau™ 3ired.
HHAR faumR St RaeT samed wr fau gu=an faumreT gaad, onftr gl faum afdemesean
faymTEIed AfSd .

b ThcR aToTdl 3MTed febal SfaTordl M.
A. T aToTdl 3Ted.

B. di% areidt ATgId.

C. T ATl 3MTgd.

D. @i 3faToid! ATeld.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The people are either reasonable or unreasonable
A.The people are reasonable

B.The people are not reasonable

C. The people are unreasonable

D. The people are not unreasonable

in S s Ses Sluie paand g R Sl S (63 ) ue co ) e s 2 Sea o ales S e Vs syl
op Githe S ol S e Ahie lea 53 Hl by S el gl (S Alea £ pugd Alea Sy (L

Jsire e bgn s Jsine b Sl
Az Jsine S5l

Bus ux Jsine Sl

Cuy Jsine ye S

Do o Jsbaa pe Sl

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CA
C.CA
C.CA

D.AB
D.AB
D. AB

Answer: B.DA
B.DA
B.DA
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LI Wl fGaiedT UHTd Ueb e $iTg ST | 31707 11 3R g Fsah s et Sifdhd dhaiet SMTed. a1 TR
Yald g yafg FHae.

faem:
DIUMCATG! HIh et TG,

faur:
|. T ST 1T Hel o GAT QN 3T Tl T & o,
Il. A ISID 1 Bl o FAT SIS 3xad el 1T &7 ATa! dhal.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and II.
Based on this choose the option that is most suitable.

Statement:
All political prisoners in a jail who asked for mercy were pardoned. Nobody involved in the murder was
pardoned.

Conclusions:
Il. Political prisoners in the jail convicted of murder were pardoned.
. Political prisoners in the jail were not convictedof murder.

g0 am S ol Sl ae Vs 28 0 i bl | sl ] - € il S il s 3se Sl ol S ol oom K o

.1_\J.

I,

Lei LE LS (o Cilma 58 (S Guslo (e JiB L 0 (S ol 53 )0 (S pa ) 5 05 (ubins ol e i,
=

I S o0 ) e ) (S Ul ulow pe Jia,
. & LS LS (g U8 S i oulin e dis,

A.Fae FpY HHi® | fAUHR SR 3]

A.Only Conclusion | follows
Araii Gapa | & 5 LY

B.%de M5hY HHi® || [AUMN e 3
B.Only Conclusions Il follows
SRENCRE S| RGPS

.y wai® | f&har 11 3as offe.

C.Either | or Il follows
C.lLI-8 5 &Y Sy s (e

D. IV Sy SFeRe 15t
D.Neither | nor Il follow
D. 1y ||-1§)guﬁi;§‘¥‘;e@}55uuy
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Answer: D.ﬁﬂﬁﬂé}[ fspy SRGESH] q'lﬁf

D.Neither | nor Il follow
D. st 18 5 e Y 0 SS — e

14

Answer:

Trefiate®! fgad 4 S0 3Hg?
Which of the following is dicotyledonous plant?

o5 S 5S SIS (dicotyledonous) § = ¢sS s e Jid ~a i lagy

ATIY
A.Bamboo
A. b

B.&3]

B.Banana
B. >s

C.34

C.Sugarcane
C.uf

D.HIgY!

D.Mustard
D. Usmm

D.HIgY

D.Mustard
D. Usam
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15 I § Y Wi Hifgaian Smenid 3igd.
g1 4d - A, B, C, D, E 31101 F g 7T -1 T IR [RIPbs g9d dcd 3Med MU TGl P, Q, R, S, T
3HIFO1 U T -11 7 Sfgon fiRlers sad S¥aied g, T -1 Heftel U k! T -1 AT Uds ek el
TS TR S9! 3B,
T 81 D =1 fa%g ST 38, Ol paedlal i TIHIaR S¥dal Alg!. P f§ T =1 dichles Sldids 3s. E f3
DIVATG! CIbTel Sl ATs! d4d D =1 SIS[a fg Saien gl U fg C =1 R st 3iTg, St F &1
SIAh g GURT 3R, SRIER 1+ odit P 3M1fOT U =01 Hell S9ad 314, Q fhaT R § SEig! U T DWTRT AT,
s f8 Q =1 iy S¥ciel! A6l B 81 A &1 IWdidhs 3.
A 30T C =0T SRR T D101 Sl 352

DIRECTIONS: These questions are based on the following information.

Six boys - A, B, C, D, E, and F are sitting in row-I| facing to the North and six girls P, Q, R, S, Tand U —
are sitting in row - |l facing to the South. Each person from row-I is facing exactly one person in row-ll.
T is sitting opposite D, who is not sitting at any of the extreme end. P is to the immediate left of T. E is
neither sitting at any extreme end nor adjacent to D. U is sitting opposite C, who is second to the left of
F. Exactly three persons are sitting between P and U. Neither Q nor R are neighbours of U. S is not
sitting adjacent to Q. B is to the right of A.

Who is sitting exactly between A and C?

o e Sleslas (B3 A ot O g a4y bl

S343 - AcBe Ce Do E sl F — S| U85 ea sl o i 30 oS £ 1S Jlad g = Pe Qe Re Se T 5 U — Uil
DB et e S E S s e YU et el - o Lt el Sl S padd SO (e

TeD- =l o e QU o (oS 5 o 2 eetn Bl SPeT . oh b god SE gy ooom S (oS 55 0
03 D Wi s Jin S U C osa o ot Gl S F o st b il S P sl U o Sl Jlaass S
Sriow 0SS Q S ReU -0p o3 =SS Qo 0 o Jie SBe Ao b Gl S

A L5 C ¢ = e 058 et S S

AD
A.D
A.D

B.E
B.E
B.E

C.B
C.B
C.B

D.F
D.F
D.F

Answer: D.F
D.F
D.F
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Answer:

17

X T 15% = 20% y AN, x: y 37Tg:
If 15% of x = 20% y then x: y is:

RIx15% S =y 520% S x1y K

A.3:2
A.3:2
A.3:2

B.4:3
B.4:3
B.4:3

C.17:16
C.17:16
C.17:16

D.16:17
D.16:17
D.16:17

B.4:3
B.4:3
B.4:3

T fded maiaiieE aTTes o SRR Hlal.

DIRECTIONS: Find the odd one out from the given alternatives.

5 S N S e o e e ol 8 e

INCRIGUN
A.Hostel
A il

B.glcd
B.Hotel
B.Jix

C 43T
C.Inn
C.AA yilua

D.&1d
D.Club
D.is
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Answer: D.&Id
D.Club
D.K
18 faareh srgamaed : fag + Sfifdl x, T 3PS 4 ST 6; TR 3 x 4+ 6 T T fdbelt 2

Given interchanges: signs + and %, and numbers 4 and 6; then the value of 3 x4 + 6 is

= daxi S B+4% 3 566 sl 4 e gl ex g+ ldle s g & i

A4
A4
A4

B.8
B.8
B.8

C.2
C2
C.z2

D.6
D.6
D.6

Answer: C.2
Cc.2
C.2
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19 I § Y Wi Hifgaian Smenid 3igd.
eI 4d - A, B, C, D, E 3101 F g 7T -1 T IR RS §9d dad 3Med MU TGl P, Q, R, S, T
3HIFO1 U 3T -11 7 Sfgon faRlers sad S¥aied 3gd. T -1 Heftel U k! T -1 AT Uds ek el
TS TR S9! 3B,
T 81 D =1 fa%g S9dT 38, Ol pacdlal i TIHIaR S¥adl Ale!. P g T =1 dichles Sldids 3is. E f3
DIVATG! CIbTel Sl ATs! d4d D =1 SIS[al fg S¥aien gl U fg C =1 R st 3iTg, St F &1
SIAh g GURT 3R, SRIER 1 odi! P 3M1fOr U =01 Hell S9ad 314, Q fhaT R § SEig! U T DWTRT AT,
s f8 Q =1 iy S¥ciel! A6l B 81 A &1 IWdidhs e
faciear mfediear snuRTaR, @l fedean urd Ut IR 50T Ut fAfRIy TR WM 1R AT 312 U
TH T TUR HRAld. AT THEH P10 Yo ATg! o Jer?

DIRECTIONS: These questions are based on the following information.

Six boys - A, B, C, D, E, and F are sitting in row-I facing to the North and six girls P, Q, R, S, Tand U —
are sitting in row - Il facing to the South. Each person from row-I is facing exactly one person in row-II.
T is sitting opposite D, who is not sitting at any of the extreme end. P is to the immediate left of T. E is
neither sitting at any extreme end nor adjacent to D. U is sitting opposite C, who is second to the left of
F. Exactly three persons are sitting between P and U. Neither Q nor R are neighbours of U. S is not
sitting adjacent to Q. B is to the right of A.

Four of the following five are alike in a certain way based on the given information and so form a group.
Find the one which does not belong to that group?

O it s o slae U aa ke ) sus g 1l

_<3en - AcBe Ce De E L3l F — kil (S 3len 53 o e 530 S 251 Jlad (e - Pe Qe Re S T sl U — s
D et S S E S gia e U et (el - Lt el S S padd SO e

TeD = Win o e GUB o o8 o o 2 e L S PeT . o Gish (il )8 S E e Sl (S 55
@Dl o din SUCC s o e L SF . 2l upy —w b il SP sl U 0 Soef Ol S
Sntop 0 SIS QS ReU -0p o3 =S Se Q- o 03 s Jie S Be Ao b sl S

JSei (S s K Sl zoh Gl sl O s Sl e b (ald SOl s e il 3 aa e g 3 (S Clasbes (K (o0

€ 2 O e s S el 13 S Gan (S B S Gl el o 5 S

AQ-A
AQ-A
AQ-A

B.R-E
B.R-E
B.R-E

CF-T
CF-T
CF-T

DB-T
DB-T
DB-T

Answer: DB-T
DB-T
DB-T
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Answer:

21

Answer:

TIT: feoiedn T ovTe o SToR Flal.

DIRECTIONS: Find the odd one out from the given alternatives.

XU S S o e e il K5 Cen

A.525
A.525
A.525

B.39
B.39
B.39

C.24
C.24
C.24

D.426
D.426
D.426

C.24
C.24
C.24
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DIRECTIONS: In the given question find the answer figure in which question figure is embedded

e S il K5 g i g S 8L s Bl s o s B i tibily

Q0

@D

v

B

A. (A)

(A

(B)

(i)

(D}
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TS <t Tl 31re —

The ISL is a tournament of-

= Al i)l ST o

Afdpde
A.Cricket
AlS &S g

B.gcald
B.Football
B.\S Jus

C.gidl
C.Hockey
(OR PN

D.&ag!
D.Kabaddi
D.\S sis

B.gedd
B.Football
B.\S s

HRare fasammeie HRY T BT g=iadl?

What does the saffron colour in the India tricolor represent?

= B8 s Ko, LS (e K Sl

ATTae for &

A.Strength & courage
Au\‘); J}\ il

B.RTidT 31101 4
B.Peace & Truth
B.sS Glaw sl 4l

C.giiwar gegt 3for A Aften

C.Fertility growth & auspiciousness of land
C.sbri S S0k L) el (S )

D gt Biurag! et

D.None of these
D.od &S = el
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Answer:

ATTa for &

A.Strength & courage
A a sl cdld
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e TTefe T &R AT BTa! 3R 8IS bail 3Rd o T hHM Jiell e yaiaite! Th 3

abc_cde_defgd_fgh_

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in

that order as one of the alternatives below it.
abc_cde_defgd_fgh_
=SS e S LEA) S s calid SO S o eadil G 558 e e s S i il

abc_cde_defgd_fgh_

A.cdfi
A.cdfi
A.cdfi

B.bcei
B.bcei
B.bcei

C.abcd
C.abcd
C.abcd

D.cefi
D.cefi
D.cefi

B.bcei
B.bcei
B.bcei
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25 I Srdquf uRwse fAnior sruarrdt, @redt fdaedt (P), (Q) (R), (S) M1 (T) 81 UTa a1 A Ssham
AT HT; IR ATeid Wi ST 1.

P. UIUET 8T UTol &R7 34 TgUId, RIGR ST 81 UTaues Urg- QST desyd Tl IUg Hdl.
Q. T fea=ft, us Mot 3nfor wfaa=melt RIeR H=1 T T=mear AR U1dd gia.

R. TEaR TSR dela RIGR! HA RIGR e S,

S. THATIA ol BRD 373"

T. el FRIGRT HAT SR Sl : TAT AT ST U1ad gidm 3707 HT thad JIUIRITS! 1ad Bidl.,

TRTAT HedHR FTeierdes! oIoTd arad urad SRa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. A herd of goats watching this mocks the hound, saying that the little one is better than the beast.

Q. One day, a strong and powerful hound was chasing a hare.

R. After running for a long time, the tired hound gives up the hunt.

S. That is the difference between us.”

T. To this, the hound responds: “The rabbit was running for its life, | was only running for dinner.

Which of the following should be the FIFTH sentence after rearrangement?

osbes @l O by (P)e (Q)¢ (R)« (S) s (T) wsllsm 8 23 29 e« imad i o jlsn A S iy |y e by S
—anola S

P. =l = sila panon Y Usen SO AS 508 o &I S S5 (S LS S (5 50,

Q. Wb Slan SR A 8 sl )l b sune Sl ¢ 0 S,

R. Lo S K3 5 )L Kb camy S 335580058 3y,

S. = BA U S S e s

T by Se A S S ) JB (e o o by Sl 1 S ol Gl GRA" 1 Gilsa 0 S ¢y e,

S s Lgogaihalaa Lo g€ amy S 3w jio jugd

AS
A.S
AS

B.R
B.R
B.R

C.P
C.P
C.P

D.T
D.T
D.T
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Answer: A.S
A.S
A.S

26 Y0 T ArEoh g 3R

Generally achievement tests are—

O Sl S GsnlalS y shale—

A g\ greoft

A.Power tests
ASELS b

B.d Tl
B.Speed tests

B.Cuad Sus

C.argar ol

C.Aptitude tests
C. o a8l

D.faendf & =raoh
D.Students ability tests
D.Cuusi IS  siadla S clilk

Answer: D.fqamff emgar areoft
D.Students ability tests
D.&ws S g siada (Sl

27 DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.
Floods and earthquakes are natural disasters.

A.Catastrophes
B.Blessings
C.Advantages

D.Protection

Answer: A.Catastrophes
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28

Answer:

faum:
faemf 915 Ut faRry <rexTd aXRu 81d 3iTe.

P B

|. AT RN HREe fhae 35 e Td e anTdia.
II. e st farm 45 fafe W Hrdt.

Statement:
Student grades are falling in a certain city.

Course of actions:

I. Children should spend at least 35 minutes in exercise.
II. Adults should spend at least 45 minutes in exercise

ok

0 =0 5 68 DR S el (e el G seade S

Jac ~a3Y:
-l (S8 il puS) Cie 35 oS 51 oS S saa
[l sl S Sl Sl e 45 oS 5 oS 58 sl -

ATHad | 38R 3T
A.Only | follows

A Cipa | K 5 LY

B. W || SIRUI B 3T
B.Only Il follows

B. Cijea ] & 5 &Y

C.UHR | fobal 11 SITERA 38
C.Either | or Il follows
C.IL & 5 &Y S e

D.| fhaT 1| -G0S BIeTe! SR HRd To!

D.Neither | nor Il follows
D. 1 osh 18 5 G KY g2 (P58 s e

D.1 fhaT 1| SEIU®! BTela! SR HRd ATg!

D.Neither | nor Il follows
D. 1 osh 118 5 0 KY o2 (P58 e

GET IT ON
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29 SR YT ST § B

Insufficient dietary iodine can cause

= S o S S Ol ome SleS

Afofefagm

A. Cretinism
A S Slasa il (A e 2

B.SEc focs

B. Giant builds
B.3ly cula

C.algadh YRRISS
C. Enlarged thyroid
C.la 5 T iles

D T8 URRISS

D. Small thyroid
D.lis Gsen Sl yilgs

Answer: C.areadt arrqﬁétr;

C. Enlarged thyroid
C.la 5 Sl

30 el 3T faeneaf STRURAST TUrgul SRd 3MeTd, 3=HbUu! 31U dd Rubid dud 301 3o Us
faemeifan Siarqs ROpT SHTOTodT 1T FiTTT. SR YRR SO0 S B 3rasdl

Suppose you are checking student’s answer books, all of a sudden you have finished red refill, you call
a student and order him to bring a refill. What would you like to do in such a situation?

b Sl g 088 (e o B S T S e ) SERERT S 0D S o e gl S S ya f
o e LS LS G e dad s ol 58 o S il o ol gl o SIS 0 S ele

A.3{TT0T HieXAT afaR A& Sarae i Wd: Reid 8- ard
A.You will ask the class monitor to mind the class and get a refill yourself
AR5 S Jib ) Sl il s UeS e 0 oS 08 S IS 8 Gaen g o Sl (S oIS

B.3mqur Rwid Irdt faeneafen siawas 09 e

B.You will give him required money for the purpose
B.Ss iyspa (S pl) A S aaie gl S

C.3MUTAT 3 dTed & T faena Uy e Wa: I i smed

C.You think that student’s money is teachers’ own money
C.op ) Sl wy Sale Qs hS G s g
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Answer:

31

Answer:

32

GET IT ON
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D. 3TYUT 3R AT IHHATS! T S SMENd QT STl ool ared

D.You will feel ashamed when you will be paying for such a small amount.
D. S s ediasd ol 55 (8 s (S Kl A S8 o (Fsen S pob ol Gl e,

A.3{TA0T Hifexdl gifaR A& Sare 9 Wd: Ruid 93 ard

A.You will ask the class monitor to mind the class and get a refill yourself
AR U S Jidy ) Sl i) 55l BeS) Gme 03 oS IS Sl A8 8 Gaea s Jiile (S S

SHiaemas @ umiieres & g 3aTeR0r Rd

A Biologist and zoologists are examples of

o Jlie G i SOl Gl ple e ) Gl ple e S

A.Afife gfgrar

A.naturalistic intelligence
A, s 5k

B. ATHMIISI® giGad

B.spatial intelligence
B.ouli (S i Sl

C. M1 gfgH

C.linguistic intelligence
C.ild Sl)

D IR fhHareTs
D.bodily kinesthetic
D.s Diae Slawa

A.ASfife i

A.naturalistic intelligence
A, ild ik

offerelt Wt SOt g =T g AT 3Tgd —
Smt. Smriti Irani is the Union Minister for-

O 0200 P (el Slag

ATG STy fasr
A.Human Resource Development
A Ciiad 535 Gt ) sy (3050
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B.HTfed! 3101 TR

B.Information & Broadcasting
B. KBl 3y S (e sl

c.adt®! gral
C.Both of the above
C.Suss s =80 ng

bR CES EAURHE Il

D.None of these
D.ow @58 el

Answer: B. |1 ATfOT TIRUT

B.Information & Broadcasting
B.BaiulS By Syl cpdie sl

33 T iUl ufwe At sroarret, @ fadt (P), (Q) (R), (S) 30T (T) Bt UM a1e’ Ay SfIehdM
YR R, IR el Ui SR .

P. UIUET g UToll aRT 34 TgUId, RIGRT ST 51 UTaues Urg- Sl Hesyd Tl USRI Hdl.
Q. T feaxit, T AaT Sfor wrfaa=elt RIGR! FH31 Tl F=M=A1 AR 91ad Bidl.

R. TiTR TSR dherad RIeR! $A1 RIeR e <dl.

S. AT dl B 373"

T. T RIGRT A1 IR <l : 47 U] ST Hidd gidl o1 Ht had WIogRITST 4ad g,

JTET HeHaR WU HIvd e GEr S4T?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. A herd of goats watching this mocks the hound, saying that the little one is better than the beast.

Q. One day, a strong and powerful hound was chasing a hare.

R. After running for a long time, the tired hound gives up the hunt.

S. That is the difference between us.”

T. To this, the hound responds: “The rabbit was running for its life, | was only running for dinner.

Which of the following should be the SECOND sentence after rearrangement?

ostes &b o) 1y (P)e (Q)¢ (R)¢ (S) s (T) ushlsm =R oo 2 s ¢ S i o jlss ) Sl | jm sina b S
Qs S

P. = lea) e osile paon Vs User SOV S S8 00 R S8 J50 (S sl s S (s S,

Q &l Sl SR A b gl 5l bsme Syl ¢ 01K,

R. L2 Ssen S 5 )l S camy S 535580 S8 paaaly),

S. = BA U S s e .

T o b Sle A S S il J& (e oo L) Sl A S ol Gl ST s Gl 5 S e e,

¢ e Lo ) pmsd adea L 08 2my S 33 i lago
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AR
AR
AR

B.Q
B.Q
B.Q

C.P
C.P
C.P

D.T
D.T
D.T

Answer: A.R
AR
AR

34

Answer:

1000 A fAraTd! o=ft wafd TEH TRedT, Ses T SRoiel 45 Ui U STad?
The smallest number to be added to 1000, so that 45 divides the sum exactly, is?

§ S 5 i | g | gy il S 45 ne gane 58 s LS pes (e 1000 s 230 Usen —w o

A.35
A.35
A.35

B.80
B.80
B.80

C.20
C.20
C.20

D.10
D.10
D.10

A.35
A.35
A.35
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35 A AR Iesar. 2 BTY 30T 1 HTeT HBTaRT GHTHAT?

Three coins are tossed. What is the probability of getting 2 head and 1 tails?

€ LS SIS 58 duala 51 sl 502 L& Vleal S (S 08

AA1/2
AA1/2
AA1/2

B.3/8
B.3/8
B.3/8

C.2/3
C.213
C.2/3

D.3/4
D.3/4
D.3/4

Answer: B.3/8
B.3/8
B.3/8

36 Choose the word which is most similar in meaning to the given word.
MADNESS

A.Insanity
B.Balance
C.Stability

D.Wisdom

Answer: A.Insanity
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37 QI OTSW A 10T B § 1! SigehH 6 3101 8 FfFeiaed wRdTd, SR A - $ g &l 10T A d &R T
AT U SRMYBR ST U dTe] bl T, TTeb! U fobet des drTar?

Two pipes A and B can fill a cistern in 6 and 8 minutes respectively. If A starts the work and they be
turned on alternatively for one minute each, how long will it take to fill the cistern?

S 33 Ayl BUSI o 5w s pe 23a B 5l 6 il oS s SOV A (S alS ol oy (e Siie Sl g ) 2 S g5 lS
?Lgcﬁiéju-‘su&—“:'uee-'w“’ B

(A) 3; minutes/ FHFE/ daia
(B) 6 minutes / ™ un

(C) 6zm1'nutes fafFy dua
D) nglﬁlutes TR daio

Answer:
(C) 6§mﬁ:1utf:s Fafy dus

38 DI T7, 14,21, o 6d UG TN
Find the 6th term of the sequence: 7, 14, 21,..............

.............. 21 =14’7:?5\l7~'5r"‘-ﬁ<;‘ﬁ:(_§6)“0“

A.40
A.40
A40

B.42
B.42
B.42

C.44
C.44
C.44

D.48
D.48
D.48
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Answer:

39

Answer:

40

Answer:

B.42
B.42
B.42

QAT T WMo fFegrdf Tsg Hiordr 2

A faid

B.H

C.3He

D.1Tdl YieRera

c.3He

GET IT ON
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il ArATors HEH T dd saTHe] Aldh TS aTeard ST diem g SHTaT JHeTdId 8

faer gt wige.

Culture provides a social context in which people true, grow and understand the world around them was

argued by

e S L3 Ghaga 8 i) ) o e el o (e U sine gamaa (S O S5) (e i = U1S L (Bl e L) SO 538

r 0 LR LS Gy ogede g con S i) S

A TNTREDT
A.Vygotsky

A. S 55 (Vygotsky)
B. AT

B.Maslow
B. skl (Maslow)

C. KPS 9e
C.Stanford Benet
C.&uiy 3, (fiul(Stanford Benet)

DRI ma sy
D.C.H. Rice

Dol o

AR HT
A.Vygotsky

A. 5535 (Vygotsky)



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

41

Answer:

42

(o Y5305 5) (5.997)
| ~ i | | T ooo |
\o3JU s 1)U g99)

r’z 1“ar’ 3\( 5N f 097"y

;‘_5)' 327 {7 m)
cobun(2-3)(2-2|2-2) (-2

A) %

®) %

©) %

D) %

© @

GET IT ON
Google Play

lis equal to:

qoar e HER IR (R J8ew) 907 FIoaEmel, A, B, C, 30T D a7 a) 9o

QI 3Tl HasT.

DIRECTIONS: Select a suitable figure from the four altemnatives that would complete the figure martrix.

O ?
Al

D21 D|L

o -]
|

i
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Answer:  B. (B)

43 TYTCITd 30% Ydds 3ol 3Ted, 50% e fediHed ffed 3Mfor IaRd 500 T av HINHE 35,
YT JEdchic! ThUT HHT?

In a library 30% books are in English, 50% books are in Hindi and the remaining 500 are in other
languages. What is the total number of books in the library?

S 0SS (e Y Low e 05D U502 500 (L Ls) o o 2 oS %50 cow e 5528 LS %30 e s S
§ 2 LS dlasl o gena

A.2700
A.2700
A.2700

B.2750
B.2750
B.2750

C.2555
C.2555
C.2555

D.2500
D.2500
D.2500

Answer: D.2500
D.2500
D.2500

44 I fecied qaraiHyd avTes o STeR Plel.
DIRECTIONS: Find the odd one out from the given alternatives.

RO S S o e e il K8 e

A SHTgSil R0l
A.Repair
ALS G je

B.goXII BRI
B.Mend
B.ULS S
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Answer:

45 ! HIvTC 99 ST i, AFTGRI% 3fYr deas giean e A1d gridd?

C.gP go%d IR0l
C.Correct
C.LS o

DAY

D.Trouble
D.—dss

DAY

D.Trouble
D.alss

GET IT ON
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Which of the following Venn Diagram gives the relationship between Friend, Guide and Philosopher?

€ 2 IS a8 bl Glaapd S il 5l 308 e sd (o S s e 05al 8IS (s i A i

(A)
(B)
(C)
(D)
Answer:
(C)
46

©0

®

®

Wreftel TRl T 31901 Hd WY H& Adbvdl

How can you define teaching in relation to following phrases?

S 5 S € Cialiay (S ol pe s € Leaa Jd s 2
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AR S Tadinehd JHRER ufhar 3

A.lt is a face-to-face interactional process between two individuals
A, = Ll Ll ey Sl 81 g

B.81 U 31U ufshan smg

B.It is a purposeful process
B. = dee Jsine SO~

C.® SURRIES Ufshar 3

C.lt is a remedial process
Cd Jae il Sl o

D.a3d 9d
D.All the above
D.alai sy sS3e

Answer: D.add ?Ié
D.All the above
D.alai sy sS3e
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47

T WIetd Udd U, fiF faum feelt sed, SR IR ey sied S |, 11, 11 30T IVarRy sifard
B Y. AU A STedT qaieh faTrd srqelt a¥iel, § I SredTd dieRd WA, JHgd: J1d
&mygwawﬁ%ﬁam,mﬁwﬁﬁmmﬁmﬁmwam.

faem -

T4 I fauH ST,

Dol T AU 3.

T4 SHTTUT 3feh ST,

fm:

|. DTet [auH AU 3.

II. 9 fawH Sffaurg3/ard.

111, 9 favg 99 ST

V. BTET 3ich TH Sl

DIRECTION: In each of the following questions, three statements followed by four conclusions marked
[, I, [l and IV are given. Consider the statements to be true, even though they seem to be at variance
with the commonly known facts and find out which of the given conclusion(s) logically fallow(s) the
statements, disregarding the commonly known facts.

Statements:

All even are odd.
Some even are prime.
All prime are digits.

Conclusions:

|. Some odd are prime.
[I. All odd are prime.

[ll. All odd are even.

IV. Some digits are even.

o op 8 0l e Soa gn R 0 Gl 08 cpe g S 8 s oie il e e | o) IV 2 Ol s
OS AS S B sl s ) ol gSe S Bilis aslae y shale oy aa SIS e g g Sl o LSS
i gl o Bilia o slaa g skl o IS s oS @iy Oy s ibla gl 8 0

ik Y,

-0 Bl s e
-0 e D gaS

o et 3 jie e
dar

|- ke Bl g2
. -0 ke Gl (e
. -op s (U g
| VASTTRUIENKIRAPERS

A Fdos fsmY | 3M1f0T 11 Fgd SRy,
A.Only | and Il follow
A ral s Il oy SS ssom

B.odos sk |1 3M1fOT 111 FRed e,
B.Only Il and 11l follow
B.<s pa Il s T ox S8 om
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C.%des sy | 31fOT IV e S,
C.Only I and IV follow
C.hral o5 IV U S8 saon

D.dos AR | 0T 111 Faa ST
D.Only I and Ill follow
DGy | s 1l G =58 s

Answer: C.de by | 30T IV fYd SRy,
C.Only I and IV follow
Ciaaral oo IV o S8 G

48 P RIBUIR YHTE ANTeRA ST Tat, UfRiefed Jem g0 ATadh 3T

In order to give effective guidance to the learning of a skill, the instructor must necessarily be able—

=S b B Gl Al Saliud Al S e ey fse Al S eSan SOl SH—

A3 goltd quidT SrRaeiet HIRIed SIATd S{ToTor

A.To execute the skill with a high degree of perfection
A S 2 el S S ln g S IS S 2 el

B.TfRIfErd FHruame Tad SRd Sced AaiueT 3o guitdt IRyl srae SR SHraffad HRugre!

B.To execute the skill with a higher degree of perfection than the person he is trying to instruct
B. = b oS S (S eSam ) s S padd Gl Al L alad) il S JLeS o) S cundla

c fagmafar Rieauarezdr SR WU i3 s Rid #o

C.To develop the student’s insight into the nature of the skill to be learned
Cling s S Cpmar (Sale lll (e e 55 (SOl A S S

D.dTsc gadidn faer g1d Sraear 3nefier gHeor 3nfdr d UsR groar el T IR0 3Tt

D.To foresee and forestall the development of bad habits, the occurrence of plateaus, etc.
Do s Niail IS Lisa o) e ) (S S8 (e B 5 (S Ol e S (S alile Gl &

Answer:  C.faemafar Riequarear s WEumEn &I?liﬁ:fmﬁ 0!

C.To develop the student’s insight into the nature of the skill to be learned
C.lmn g 58 58 G (Sale il (ae Cie 65 (S @ e A S ¢S

49 FROT 7 Yearal fIegrelf 2req Hivrd 2

A SR
B. 9 R WUl

C.3H B0
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D fAR®1a0!
Answer: A GBI
50 Out of the given options, choose the one which is the correct indirect speech of the sentence given

below.

Bob said, ‘| was playing cricket”.

A.Bob said that he had been playing cricket.
B.Bob says that he have been playing cricket.
C.Bob said that he have been playing cricket.

D.Bob says that he was playing cricket.

Answer: A.Bob said that he had been playing cricket.

51 'UNDERESTIMATED' URJH WTald Leqiudh! BV e TR Bl SIS, Xdhd ATgid?

Which of the following words cannot be formed from:
'UNDERESTIMATED'?

LS s (e D U3 ~ay2ie 'UNDERESTIMATED' — UiSka Llis (s —

A.TIMER
A.TIMER
A.TIMER

B.ESTEEM
B.ESTEEM
B.ESTEEM

C.EARTH
C.EARTH
C.EARTH

D.DIRT
D.DIRT
D.DIRT

Answer: C.EARTH
C.EARTH
C.EARTH
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52

Answer:

53

WTetate! Fafd JaT 3qUlids TNt
Find the largest of the following fractions

GBS U el (550 s 03e 3eS i) i

A.231/349
A.231/349
A.231/349

B.352/478
B.352/478
B.352/478

C.453/584
C.453/584
C.453/584

D.759/894
D.759/894
D.759/894

D.759/894
D.759/894
D.759/894

GET IT ON
Google Play

AT g1 dTfgepTd TRY 3T Sif fa=Middt 315 3MTe. IR 81 AHddl deid 3T, il [Gidal Thadl Gar 3e.

TG 3117 fe=Iid Tt ATd H1a?

Swarna is mother-in-law of Vahika who is mother of Dishant. Raveesh is father of Ronit, the only brother

of Dishant. How is Swarna related to Dishant?

/"“":‘JL:'SC'“‘:‘-’L“-\LS/"'J‘)“dc“Lﬁ—‘h‘}SC—“L“‘\Pét“:’LJLSC—”JJULJJg’ut“usc—“udﬁdu”h‘us&;\JMJ‘J“

=

AT

A.Mother-in-law

Al

B.®1dh
B.Aunt

B>l
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c.Udr
C.Wife
C.usm

D. 3{TSit
D.Grandmother
D.su

Answer: D.3fTolt
D.Grandmother
D.su

54 R el feaa uy auf Afirhar Sienia sied. a1 U Hifeldrd, HTal 1R g ed. T UTiy
st ura T 3ifdes 3ieR TETe 3Ty, Hifdidhdld Yacd U 3feR fAasT .

ab--ta-xy--b-----

DIRECTION: Questions given below are based on the letter series. In each of these series, some letters
are missing. Select the correct alternative. If more than five letters are missing, select the last five letters
of the series:

ab--ta-xy--b-----

)3):‘?1*“-&‘—’)3@:‘;\C‘?jsa‘,)l-‘:‘;‘g_ﬂf“C:‘”*-:“g‘—‘);u%u:“,)fu:’:‘d"‘i‘h)fc‘)“u);‘;‘y‘}“cz’ajc%:‘“;‘:‘u:‘
i S s ml Al

ab--ta-xy--b-----

A.xyabt
A.xyabt
A xyabt

B.xybat
B.xybat
B.xybat

C.xytab
C.xytab
C.xytab

D.xtaby
D.xtaby
D.xtaby

Answer: C.xytab
C.xytab
C.xytab
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55

Answer:

56

Answer:

feciean ufcTaite! @relid e T 31Ul HH HI0TdT S-ia?

WTeitede! G dTad HIvTd ?

ATTIATE YAAE HRUTTITST T 3ol dhal.

B.TTad YA HRUTNTS! i 315 el
C. A Ga9 HRUGMEE il 3ol B,
D.TTTaTd YHdG HRUATGR Fi+T 37S] dal.

ATTAT Ga9 HRUGITS! i1 3fof e,

Slacx, d1u, vy, Alhd Y

GET IT ON
Google Play

Which one of the given responses would be a meaningful order of the following words?

Doctor, Fever, Medicine, Medical Shop

$ S i i i ina (S LU 3~ e SO L S e Gl g K0

O b ccada ¢l ¢ KIS

A. BSidd M, 39, dmd, Siaex
A.Medical Shop, Medicine, Fever, Doctor

AL SIS Ay g Sy dar

B. dIU, Sldex, Heldhd XU, 3y

B.Fever, Doctor, Medical Shop, Medicine
Bl s ISibie ¢ SIS ¢l

C. Slacx, A U, 39y, dg

C.Doctor, Medical Shop, Medicine, Fever
C.ok oJSie el IS « I3

D. 39y, STaex, Haled WY, a1y
D.Medicine, Doctor, Medical Shop, Fever
D. s (oS b« XI5 el

B. @MU, Slaex, HSlohd T, 3Ny
B.Fever, Doctor, Medical Shop, Medicine
B el IS ¢S5 iy
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57 G TReiT TTd! 3107 ST} SR 84 3107 21 318, SR GIH BT UMK 1:4 3{d, R HAia! S
DIUIT?

The H.C.F. and L.C.M. of two numbers are 84 and 21 respectively. If the ratio of the two numbers is 1:4,
then the larger number is?

RS S 214 i S Gy 50 &0 21 sl 84 il Gae U 3 el o i) sl il s

A.12
AA12
A.12

B.36
B.36
B.36

C.48
C.48
C.48

D.84
D.84
D.84

Answer: D.84
D.84
D.84

58 T Wieitd YA fGaen maieT Sefd sfeR/RTsc/Rem Fasr.
Hohd: AR ::

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

SIGNAL: TRAFFIC ::

.wﬁumu)w/.kﬂ/u)ahshh:»dabhc\gdd cuyd\)udgl,\;)& o
Sy f 8

AQR: W

A.Door : House
A S o500
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B.&RUT ; T}
B.Dam : River
B.syi: sl

C.f¥ T : g
C.Lens : Light
C.bsy: ol

D.5& : A%
D.Brake : Wheel
Do icsan

Answer: D.8% : dlh
D.Brake : Wheel
D i S

59

Answer:

IT: feoiedT T ovTe o STo) FIal.
DIRECTIONS: Find the odd one out from the given alternatives.

S G S S o e e Jolie K han

A.lUNR
A.lUNR
A.lUNR

B.MPSV
B.MPSV
B.MPSV

Cc.QTwz
c.QTwz
c.QTwz

D.GJMP
D.GJMP
D.GJMP

A.lUNR
AlINR
A.lUNR

GET IT ON
Google Play
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60 LI Wi wyiae el gatardeT Jeiftid sieR/Rsa/em s,
7584: 5362 : : 4673:?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

7584: 5362 : : 4673:?
.w‘)sg_\aau)w/.hﬂ/u);/&lﬁmcmdibla:gdd cwd\ydﬁl,\;)& *Cran

7584: 5362 : : 4673:?

A.2367
A.2367
A.2367

B.2451
B.2451
B.2451

C.2531
C.2531
C.2531

D. T} BIurchgt ATl

D.None of these
D.uw DS e O

Answer: B.2451
B.2451
B.2451

61 qoan: fEeear aRiddT A9 (FHaEs) FGUIRT AHMHal T e
DIRECTIONS: Find the odd figure from the given four figures.

A

(A) B) (€ (D)

A. (A)

B. (B)
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Answer:

62

Answer:

63

A. (A)

TP Widbs Sic TRAGH, U Gy TgUrd!, “dif AT Yiared1 sfgultea afgeie gerd 3iig” I hiciaed
Tl GYRIEd ATd B1?

Pointing towards a lady, a man said, “She is the daughter of the father of the sister of my brother”. How
is the lady in photograph related to man?

WS el 8 yse Gl e sl " o A (S Qb S on Sl e 2 "US Sl ¢ S Kol Gl (S
TG AL

A e

A.Daughter
A. A

B.Udl
B.Wife
B.ssu

C.3M
C.Mother
C.uw

D.§8I0l
D.Sister
D.ow

D.§8I0
D.Sister
D.owe

16 THT 0T 8 T ST ST ST HURY didl! (FHHE) BTal.

Find the length of diagonal (in cm) of a rectangle whose sides are 16 cm and 8 cm.

Dt S T B g e (e 16 i1 S G 0 S B (e S (SBim) il S S

A.15.89
A.15.89
A.15.89
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B.16.89
B.16.89
B.16.89

C.19.89
C.19.89
C.19.89

D.17.89
D.17.89
D.17.89

Answer: D.17.89
D.17.89
D.17.89

64 I YAD U=ATAT U W fAUMRied IR fau™ sgd Saimardl A, B, C 3101 D 3 IR fau™ 3iie.
HHIR fquH St aeT samed uuy faur gu=ar faumrar gaad, $iftT il faum afbamesear wid
faemraed frfed s

R TS &8 i, dR el ATl @Tef ared
A. TS &8 el

B. TEEITAT &8 STl ATe!

C. 1T T drSl dTeat

RN ENEESEIS

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If one gets punished , one feels ashamed
A. One got punished

B. One did not get punished

C. one felt ashamed

D. one did not feel ashamed

tia S U sSss Sluia grand g R S8 bl S (63 ) i e laa e am S o alea Sl e Il g n il
b Gilae S by 6 S e Bl ea 93 ol Ly S ol ) (Sales 2 pegd alea Sy s

s e (S pd 5 ke e S S Ca
Acke 1w S S

Bule e 1 3m oS oS -

CisS s (Saia i 3 S

DS el o smme (S5 3 S
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65

Answer:

A.AC
A.AC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

A.AC
A.AC
A.AC

(17 + O
16 .
A. 2
B.2.5
C.35
D. 4
B.25

GET IT ON
Google Play
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66 T S1dqul ufkwe i Hroarret, @ et (P), (Q) (R), (S) 30T (T) B Urd a1e’ aig SfIeh M
AT BT, IR ATeid T ST .

P. UIUET 8T UTol &RT 34 TgUId, RIGR ST 81 Uiaues Urg- QS desd Tl IUg Hdl.
Q. T fea=ft, us MiaT 3nfor wfaa=melt RIGR H=1 T T=mear AR U1dd gia.

R. AT TSR dela RIGR! HA RIGR YT S,

S. THATIA ol BRD 373"

T. el FRIGRT HAT SR Sl : THT ST ST U1ad gidm 3707 HT thad JIUIRITST 41ad Bidl.

JREAT FedHaR WTeitedes! Hiord arad faar SRid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. A herd of goats watching this mocks the hound, saying that the little one is better than the beast.

Q. One day, a strong and powerful hound was chasing a hare.

R. After running for a long time, the tired hound gives up the hunt.

S. That is the difference between us.”

T. To this, the hound responds: “The rabbit was running for its life, | was only running for dinner.

Which of the following should be the THIRD sentence after rearrangement?

ostex b o) 1y (P)e (Q)¢ (R)6 (S) sl (T) sl s =8 200 2 ey ¢ i i o Jgs ) Sl | m cia by S
s S

P. = len) e osile paon Vs User SOV S S8 00 K1 38050 (S Sl S (g S,

Q. Wby Slan S GERA JSh Hsilh )5l dsuae Syl e (0 S,

R. L2 356 J8S 5 )L S camy S 535580 S5 paealy),

S. 2 3A 0L S P .

T oo b Sle 2 S S ) JA& e o o L) Sl S ola A 38 A" s Glga 5 S ¢y G,

?C‘f\% L‘ﬁ ‘J“‘"‘:‘S ‘d“A L UJS Ay é C‘JJ “—‘.'3:‘,)3 ",)L.'JJ

A.P
AP
A.P

B.Q
B.Q
B.Q

C.R
C.R
C.R

D.S
D.S
D.S

Answer: A.P
A.P
AP
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67

Answer:

68

Answer:

GET IT ON
Google Play

= Wiellel TeaTT Teh HThiclael SR el /1§ 31707 A7 Sedrel ATl FEUIA Algell HTE.
FIAETAT HAAT el aiadedrd Hedl Horl HTddl Faedor el G § dJFsren

Hadd H e,

DIRECTIONS: In the following question. a design is given. marked askev figure. You have to
determine which g will be the exact view ofthe original kev figure seen from the reverse side of the

paper.

3508 ki sk B o al S LS b Sl =

Ty LiaS s 8o ol S

7 e

Main Figure

Y
Qo
\GCY

Fravrarer TAE ATFear
Answer Figure
Sl ol 3z
=TT
o e/ \ely/ \gle/

A B C D

A. (A)

B. (B)

C. (C)

D. (D)

C. (C)

T T YeaTaT U e HIUMET 2

ATSBIH
B.3IS U]

C. A=l
D.3ifaRy

B.3H{SYBT
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69

Answer:

AR uforan =i URaaT Wieitd UHT0T 318

The term continuous process is interpreted as—

= e (S sk o) mds (S pdlaal (S dee Jodie-

A TIfShaT Tefd 10T Haiat d1e] 31Te

A.The process going on everywhere, all the time
Az bode s 5 oda nde

B.SflaHR TR wfhar

B.Life-long process
B.dee 1S e S

C. S IR AR Talt ufesan
C.The process going on from cradle to grave
C.lee 88 8 = Jjg

D.&RY, 4 f3HIult SIfO1 U a3t a1l SRUIRY Wfeha

D.The process going on at home, all places and every time
D'S'LZ'JJ?‘L‘EJJz‘))\&,AJT\s‘XEJA;H

D.&RY, 4 f3HIult SMIfO1 U a3t dTe] SRUIRY Wfeha

D.The process going on at home, all places and every time
D. 2 buds iy sl Sa sl dee

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

70 G : Wit U UHTd G faem | ofor 11 fadie 3imed. 8 faum Thar W SRUT 3y Qdbdrd fdvarl Wad
HRUME RO 3R IHdTd. TiUD! U faUM SR A uRomT e[y e, Ge! e arr T
G| HIvTT IR U4t a1 gig! faumadia deuie quie sar d 3xar.

ICEIGE

|. TP FIRYSA Heedl deired] febHcilel 916 HTedT 3T s Uebl SHTGaSAYd! SER beiedl Al
fohadia UcIferad IdTe-d YTd HiddT JHIUNG dled 3HTgd.

II. I SdTGH G AR T Hig-aTuRgH dHel dard I 20 TR dledd 3HTg.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. The prices of all the petroleum products have increased substantially in the recent price hike
announced a week ago due to increase in price of crude oil in the international market.

. Oil producing countries have increased the output of crude oil by 10 percent for the last one month.

Sl 53 O dlsms g e 1l | o) 11T 5 il g 8 o0l o s 5 S8 S clisa s 31 e b losas 315
O Al S a8 Ky 2 hS (S Aliaid gl a5y il (5350 o WS 50 81 S 1 g0 (Ol Sl s e L
e BS il  Soed S Bl ey S Sl gsi g0

Glil:

| — ads s aliony S (Ble) S il (e g siad J 230 SOl s aany (S Bl adlls (e Caedl (S J85 ala (e S jle Jadis i)
o Vs ALl ol GBS s siad oS e sins

- = S Adlal aad 10 Gpe Db S diala o Sdlae 1y 08 o di ) )50 Sole Sl e

Afum | SRUT 3R 3nfor faem 1 = o SR

A.Statement | is the cause and statement Il is its effect;
A e gl | e O oyl sl 2 TS Gl

B.faem 1| HRUT 31g 31fUr faem= | e aikomy a1rg:
B.Statement Il is the cause and statement | is its effect;
B. s g ll s gl oyl s |- = A S

C.faem 1 3nfor 11 QS T HROY TR
C.Both the statements | and Il are independent causes;
C. sad Sl sisd | mad ) 11 -0 Slisa g 313

D.faum | 3M1fOT 11 ST HTEt YA SR URUMH 3iTed

D.Both the statements | and Il are effects of some common cause.
D. i Sl gsiga | paad o) 1o @A S aas SOl (o8

Answer: D.fayT | 3M1fO1 11 S St HTEt ATHRT HRUM GRUMH HTed

D.Both the statements | and Il are effects of some common cause.
D. i Gl gsiga | saad o) 1o QA S aas SOl (8
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71

Answer:

72

GET IT ON
Google Play

13 BRI 2011 I 30 A/ 2011 TEhd THUT fGawi Te S 38?2
Find the number of days from 13 Feb 2011 to 30 March 20117

139038 asbas dlaad (S 900 S5 2011 7ok 30 — 2011 58

A.50 feag
A.50 Days
A.50¢0

B.46 faad
B.46 Days
B.460»

C.60 feag
C.60 Days
C.600

D.58 fead
D.58 Days
D.58u»

B.46 faag
B.46 Days
B.4602

T FTadid RigfeTe TaeeRt eig
The teacher’s responsibility with regard to standards is to—

cf&J\JMSGSAU‘“\U*cL“J“cSJQ"A'

A JeaTd} auTid HFe Jagor

A.Set up standards for the members the class
A S Dok Bl S lme S (WIS S IS )

B. 1 ¥ad: =1 dafaad Mo arfesun Ares ¥ HRuaridt Aed aor
B.Help children to set standards for themselves individually and collectively
B.0iS 23 e S Joke ey sk oo sene sl iy Jsh a8 S G )

C.UAH AT MMes Feiia Herd A T HR0)
C.Enforce for each child the standards set by the school
CAa S jlmaod € ) e b (STl Al S a0 p
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D A IRIGR YHTd! Y1 10T FRIbquara T TR | 60l

D.Set a programmer of effective instruction and learning without regard to standards
Dot S D ol R S SeSam o) Gy Jfige s S e

Answer: B HdI Wd: 91 3afadd T GfgHU0 AMES Ff¥d HRuaEt Hed ool
B.Help children to set standards for themselves individually and collectively
B.rS 23 e S ) jie slme n Hsh e gana gl sk gl S e

73 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Commitee
B.Scenery
C.Secretary

D.Sergeant

Answer: A.Commitee

74 856 x 789 x 1053 I Uhch R 3ich
Unit digit of 856 x 789 x 1053 is

856 x 789 x 1053 ¢ ~uwaiy Cui S

A1
A1
A1

B.2
B.2
B.2

C3
C.3
C3

D.4
D.4
D.4

Answer: B.2
B.2
B.2
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75

Answer:

76

GET IT ON
Google Play

DIRECTIONS: Complete the senies by choosing night figure from the given choices.

hiznS JoSo o8 Aludu S e oS Si s e ksl B s oy

Problem Figures

e [ aNal T o~ R [

Bz ™S g uT =2

U s|p cic *|o u
1 2 3 &

Answer Figures

U= U A R R
=g _z{8No 2FN\o TN 2
R tlr elu clu c

(A) (B) (€) D)

I SpTEHI ISR 3T

An example of learning disability is

= e SOl (S e (S e

AT gred!
A.Cerebral palsy

A_Gjlé tlad

B.QQHS‘I
B.ASD
B.LSJS u-e‘ )

c.fexifeqar @  sfermd)
C.Dyslexia
C.oS e ulil (S a5

PRSIER]
D.ADHD
Dsiglsss)
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Answer: c fexifaqan @  sfermdr)
C.Dyslexia
C.oS Upe il (S a5

” o=t Gowdr gAY Aol 9ul ST 919 ST Hast

DIRECTIONS: Complete the series by choosing right figure from the given choices.

S JaSo S usm oS S sl S K s ue Ol lisl B s oy

Problem Figures
| X | X
1 2 3 4§
Answer Figures
e badien
(A} B} (c) (D}
A. (A)
B. (B)
C.(C)
D. (D)

Answer: C.(C)

78 Out of the given options which best expresses the meaning of the given Proverb?
The early bird catches the worm.

A.The birds that fly in the morning are a delight to watch
B.You should wake up and start working early if you want to succeed
C.A few rare birds catch worms and insects to eat

D.One should never get up early in the morning

Answer: B.You should wake up and start working early if you want to succeed
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79 . feaea sie mfcrdsdia gaid! S e

4,5,9, 20, 34, 59, 95

DIRECTIONS: Find the wrong term in the given number series:
4,5,9, 20, 34, 59, 95

o56S i hle ez eyl R o0 Cyly

4,5,9, 20, 34, 59, 95

A9
A9
A9

B.34
B.34
B.34

C.59
C.59
C.59

D.20
D.20
D.20

Answer: D.20
D.20
D.20

80 y2+7y+12=0 TT TGHHROMH & 3R
The roots of the quadratic equation y2+7y+12=0 are:

S5y S O slse a ye Y247y +12=0 oo

A4, 3
A4,3
A4,3

-4, -
-4, -
-4, -

W W W
W w w
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Answer:

81

Answer:

delelHd R AT dhersfiafqe RmfSdl g ard UhR 3Hed

Catatonic stupor & Cataionic regrdity are types of

O Onand (S 80 i 8IS ) ) s S SES

A AP RS AL

A.Psychomotor symptoms
A. Sldle il

B.g: WU
B.Hallucinations

B_JJ.\A

C.HdeR &t fddpR
C.Behavioral disorders
C.lAd Sdee 500

DT [dpR
D.Visual disorders
D. A Gy

A AP RS AL

A.Psychomotor symptoms
A. Sldle il

GET IT ON
Google Play
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82 mmqamwmwmﬁm.mwﬁﬁﬁmmlm

Fegr=ar faeg aregen Asa?

DIRECTIONS: In the following question an unfolded diceis given. From the given altematives which

of the following will be opposite of L] 7

i odly o oS i o ¥slito K s s s paly gy LS Sgd 58 Sl o Ul S i 1l
wSa &y

—_—

.
gt
A

[ ] 5

n; W
1B ‘
(c) v

0, @

Answer: .. ®

83 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
A gust of air blew out the candle.

A.extinguished
B.ignited
C.lighted

D.kept

Answer: A.extinguished
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84

Answer:

GET IT ON
Google Play

U1 fafR1y Hicsfoies HTNHL, SR CERTIFY 81 sk BURGIVX 3T Head Pl Sld 3, ADJACENT 8T

Yeg, T HTNT HT Hedeg bal Sad?

In a certain code language, if the word CERTIFY is coded as BURGIVX, then how is the word

ADJACENT coded in that language?

Bl R e ) oS el G saia Sy CERTIFY 58 BURGIVXSi e (i) ool 55 ¢ =2 s 4SJ ADJACENT 5

Bailalesd —us

A.ZWQZXVMG
A.ZWQZXVMG
A.ZWQZXVMG

B.GMVXZQWZ
B.GMVXZQWZzZ
B.GMVXZQWZ

C.RMVWYJWH
C.RMVWYJWH
C.RMVWYJWH

D.GMXVWRVZ
D.GMXVWRVZ
D.GMXVWRVZ

B.GMVXZQWZ
B.GMVXZQWZ
B.GMVXZQWZ
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85 I § Y Wi Hifgaian Smeiid 3igd.
T8I 4d - A, B, C, D, E 3101 F g 7T -1 9 IR [GRIPbs d9d dAd 3Med MU TGl P, Q, R, S, T
3HIFO1 U 3T -11 7 Sfgon fiRlers Sad S¥aied 3gd. T -1 Heftel U k! T -1 BT Uds ek el
TS TR S9! 3B,
T 81 D =1 fd%g S9dl 38, Sl paedlal i TIHIaR S¥dal Ale!. P g T =1 dichies Sldids 3s. E f3
DIVATG! CIbTel Sl ATs! d4d D =1 SIS[al fg Saiel gl U fg C =1 R sl 3iig, St F &1
SIAh g GURT 3R, SRIaR 1 odit P 37101 U =01 Hell S9ad 314, Q fhaT R § SEie! U T DWTRT AT,
s f8 Q =1 iy S¥ciel A6l B 81 A &1 IWdidhs 3.
S=1 dgHid Pt Ry &1 s

DIRECTIONS: These questions are based on the following information.

Six boys - A, B, C, D, E, and F are sitting in row-I| facing to the North and six girls P, Q, R, S, Tand U —
are sitting in row - |l facing to the South. Each person from row-I is facing exactly one person in row-ll.
T is sitting opposite D, who is not sitting at any of the extreme end. P is to the immediate left of T. E is
neither sitting at any extreme end nor adjacent to D. U is sitting opposite C, who is second to the left of
F. Exactly three persons are sitting between P and U. Neither Q nor R are neighbours of U. S is not
sitting adjacent to Q. B is to the right of A.

What is P's position with respect to 'S'?

o e Sleslae (B3 A ot S g g bl

S5 g2 - AcBe Ce D E sl F — S| (S5 4a sl o e i oS 6518 Jlad e - P Qe Re Se T 5l U — |
DB et e S E ) S gia e U et el - o Lt el Sl S adl SO e

TeD -2l o e G o (oS 53 o 2 et Bl SPeT . b b o8 SE gy oom S (oS 5 0
03 D Wi e Jin S U C osa oz o Bl S F o st b i S Pl U o Saed Jlaes S
Sriow 0SS Q A RU 0p o3 2SS Qo 0 o Jie SBeA o b Gl S

'S e Gl S P LS O S

ARSI
A.Neighbour
A.@»Jj—g

B. 3ol g G
B.Second to the right
B.s s e psila

C.3qd h g SN
C.Third to the right
C.omd s b

D. g7} BIurcie el

D.None of these
D.owd 58 = e O

Answer: D .Tidat ﬁ'ﬂ?ﬂﬁ :ﬂ?)[

D.None of these
D.ust &25S oo O
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86 faRelida argTde Thad 8 feTeR aTs- T8 ST IaRd UToN 3115, 30% DHAIDHRUT SRS AdI- [H0T are-
% TR $l ofd. GReaTiTa fsomeed 32 feres arof sryeamy ot fores fiyyormean St Yeg arg
gl Srd?

The diluted wine contains only 8 liters of wine and the rest is water. A new mixture whose concentration
is 30%, is to be formed by replacing wine. How many liters of mixture shall be repalced with pure wine if
there was initially 32 liters of water in the mixture?

Rl ol Wy S S daasi € s« 2830% e o S e i Sl o (b B sl o SIS SR 8 Caea (e IS iy
8 s WS diadi e S i palld € (€50 S i1 S 6 s dsase (S S 32 g sk (SN e S e

A4
A4
A4

B.5
B.5
B.5

C.8
C.8
C.8

D g PIvIde! gt

D.None of these
D.uw DS e )

Answer: B.5
B.5
B.5

87 R ATTAT S8 FTgcd, 1M1 Thrac Bed, GhIHcid] $ad Fed, holdl I3 Tged, M1 TTal HieiTe
Tged. R W] HIUd Hhed AT WM 3RIA?

If mango is called grapes, grapes is called apple, apple is called banana, banana is called orange and
orange is called water melon. Which of the following fruit is red in colour?

Ot B ¢ m g L € d ma it 8 s LS s € (Bl sl (KU 58 LS LS € s e £, 800 & ST R
.
=

A BITS
A.Water-melon
Ani

B.IWEG
B.Apple

B.—
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CFHD
C.Banana
C.as
D.A
D.Orange
D. &b
Answer: C.5a
C.Banana
C.as
88 Wi Ut 1o T dae 3R?
Which of the following is a natural magnet?
§ = pubalie ()8 SOV 058 s (ne did i
AdrSTH
A. Lodestone
Ao sulS g
B.®IR
B. Copper
B.wu
c.grsaq
C. Sodium
C.aid s
D.UicarRrEad
D. Potassium
D.axiii s
Answer: AE“SE-IH
A. Lodestone
Ao sulS g
89 WeAUD! HIVG 3RUY SieReild S fasdid Fad 3e?

Which of the following forest is grown in waterlogged areas?

S35 e U0e o e e Sl OS e e SKin U et

GET IT ON
Google Play
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Answer:

90

Answer:

A FeTelld 3RUg

A.Evergreen Forest
Ao b o

B.UTUTS! 3RTY

B.Deciduous Forest
B.u<3ws3 Deciduous J&ia

C.giierd I 3RUg
C.Tropical thorn Forest
C.uules S 55 Tropical thorn s

PRIEDIC

D.Mangrove
D.s_%us mangrove J5a

D. A%

D.Mangrove
D.s_ % mangrove i

feerear irehcar Aellel aIgTes HEAT AT
Find the missing number in the given figures:

GET IT ON
Google Play

3 3 2
3 9 6 8 &8 4

A.8

B.4

C.2

D.6

A.8
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91 I § Y Wi Hifgaiar Senid 3igd.
T8I 4d - A, B, C, D, E 3101 F § 7T -1 9 IR RIS §9d d9cd 3Med MU TGl P, Q, R, S, T
3HIFO1 U T -11 7 Sfgon fiRlers sad S¥aied 3gd. I -1 Heftel U k! T -1 BT Uds ek el
TS TR S9! 3B,
T 81 D =1 fa%g S9adl 38, Sl paedlal i TIPHIaR S¥adl Algl. P f§ T =1 dichles Sldids 3s. E f3
DIUATG! CIbTel Sl ATs! d4d D =1 SIS[al fg Syaiel gl U fg C =1 R st 3iig, St F &1
ST g GURT 3MTR. SRIER 1 odit P 3M1fOT U =01 Hell S9ad 314, Q fhaT R § SEie! U T DWTRT e,
s f8 Q =1 gy S¥ciel! A6l B 81 A &1 IWdidhs e
'S' FHR P AT 31872

DIRECTIONS: These questions are based on the following information.

Six boys - A, B, C, D, E, and F are sitting in row-I| facing to the North and six girls P, Q, R, S, Tand U —
are sitting in row - 1l facing to the South. Each person from row-| is facing exactly one person in row-ll.
T is sitting opposite D, who is not sitting at any of the extreme end. P is to the immediate left of T. E is
neither sitting at any extreme end nor adjacent to D. U is sitting opposite C, who is second to the left of
F. Exactly three persons are sitting between P and U. Neither Q nor R are neighbours of U. S is not
sitting adjacent to Q. B is to the right of A.

Who is sitting opposite 'S'?

o e Sleslae (B3 A ot S g a4y bl

S35 ea - AcBe Ce D E sl F — S| (S5 4a sl o e i oS 6518 Jlad (e - P Qe Re Se T L5l U — |
D o i e S FH S i e U8 (adS (el o L el Sl S (add SOl Uxe

TeD- =l o e G o (oS s o 2 eetn Bl SPeT . b b god SE gy oom S (oS 50
oD o d SUCC s o e Badh _SF . ) us —wcaph il SP 5 U o8 Sagd Ol S
Sriow 0SS QS ReU -0p o3 2SS Qo 0 o e SBe Ao b sl S

'S' ¢ = e 08 Jilialy S

AA
AA
AA

B.F
B.F
B.F

C.E
C.E
C.E

D.F4ifkd Fa SN Tepd e,

D.Cannot be determined
D. = U la LS Gy ol

Answer: C.E
C.E
C.E
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92 1 A TIgURE goaTd e ITRal 6 fobdt dreid Sral, T STdidhs dosdl T 8 ft reray. Tt
STaidhS gesal ST 12 fpeht are (d) foigudd STdl. R I dfe Foedn faia smg?

Ram start form a point A and walks 6 km North, then turns left and walks 8 km. Then he turns left and
walks 12 km. In which direction is Ram facing now?

(a) P SOl al ) Aoy g - Ula eslK8 ) o U3e (b e oo Ula Gre Jled KB oyl o BSE g s
i gl 5 il (d) § o e e S Sl o il fw K12 S

A3
A.North
Al

B.gférmr
B.South
B.—sa

cgd

C.East
C.o5%

D.UfgH
D.West
D.wx

Answer: B.a‘fE‘IUT
B.South
B.—sis

93 YRAM! TeHT TR HRUGMTS] SRICIeH [eTRIHT Fiedr Ageararai Sl sici:

The Constituent Assembly body set up to frame the Constitution of India was headed by:

‘ot S A e () e S e S el Sl pstey Al S 58 )l il 8 &l

AZL d 3R 3fdsHR
A.Dr. BR Ambedkar
A. Sl )l o 8IS

B.J. Ag%

B.J. Nehru
B. 500 ¥ s

C.HaTET TMieht
C.Mahatma Gandhi
C. 2l il


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer:

94

DS, g UG
D.Dr. Rajendra Prasad
D. sy Jaialy I3

D.SI. I5ig U9TG
D.Dr. Rajendra Prasad
D. sy Jaialy I3

o : Wl GAD GYTd &I faem | 307 1 faaiet e d. 3 fau™ UdhaR Wads RO 31 [ehdld fdhal Waa
HRUI RO 3R IHdrd. Tite! T fAUH IR faumrar uRomd 3Ry 2rdbdl. ael faum arer Sfr
WU HIOTT TR U a1 Gig! fauiadia deuie auia el d 3xar.

faur -
. X AT fHUm=an JsHed Gad gIRvl §d 3118,
1. Y &1 fiesum=ar dsHe Idd 99Rul 8id 3iTe.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Grades received by X have been steadily dropping.
Il. Grades received by Y have been steadily dropping.

Sl 53 Goa Dl 3 o bl | sl 1T 5l b 0 8 00 -0 55 5 DA S Slsas 2] e b Slisas 3
O QL S Qa8 8 0 2 AS (S e gl a5y by (5isa o BSw g 1S 1 50 oy SOl s (e il
= US ol a Saed S Gl e p0 S iy s

bl
| =Xeom =0 R dubie 33 8 Ny ke <
-Y 0w =0 S dabia 38 8 5 S

AU | RUT 3Mg 3OT faem= 11 = uRkonme 3g:
A.Statement | is the cause and statement Il is its effect;
A gl i ol oyl 2 sl -2 VS O

B.faem 1| HRUT 31g 31fUr faem | e aikomy 3
B.Statement Il is the cause and statement | is its effect;
B.ow g Il saed Ol L) 2 s |- 2 AT S

c.faum 1 3for 1 8 TadT BRI 3R
C.Both the statements | and Il are independent causes;
C.omad il G 5isn | aad ) 1 -um Slgas )3
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D.faur | 3M1fOr 11 S5t ¥add HRUM YR 3M1ad;
D.Both the statements | and Il are effects of independent causes;
D.osed il siga | sl Jsh 1o I S Clhsas 3

Answer:  D.faem= | 3fOT 11 6T @ HRUM TR 317 d;
D.Both the statements | and Il are effects of independent causes;
D.osed il Gsisd | sl Jsh 1o I S Clhsas 3

95

== Wiellel 92eTd Udhie HIRMdl =X Hael graded] 3-I'I'BT-T gead faaReies eped
a5 grelem SivTg e HEe?

DIRECTIONS: In the following gquestions four positions of the same dice are shown Select the svmbol
opposite to the symbol as asked in the question.

23 g o) Lo Jlsw s in oS Gadle gl L 58 il Laills Ll oS iy ow Sl s sl S i 1ol

* ar Reprear g aeEn Foe R 3¥er
Which symbol will be opposite to svmhol * 7
TunSgr ad oS ol > L LS

Answer: D. A

96 T JATSIHRU Ufdhadn A uRumy st

The direct proportion of the child’s socialization process is—
.dme\Ja\ﬁSdméQ%Méﬁ-

A IS faer™

A.Social development
AL 5 ales


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

Answer:

97

Answer:

98

B.AMRI® fam™

B.Mental development
B tle

C.HAeR fde™

C.Motor development
C.85 s

D.ad Id
D.All the above
D.olai sy sS3a

A g faer™

A.Social development
AL e

faoi=ar Jafdsa guTarn =Ny i drar:

Magnetic effect of current was discovered by:

s il )3 ) S DAl S 1S i S

A TATHT

A. Fleming
A Sias

B.3IN&ES
B. Oersted

B.iiu

C.Hegad

C. Maxwell
C.dis oS

D. e

D. Newton
D.f s

B.3R%S
B. Oersted
B.idu

weitede! giew i Weq s,

A SO

GET IT ON
Google Play
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Answer:

99

Answer:

TTefAUD! BV Ford TId Ta1?

Which of the following is not a source of energy?

§ 2t A SIS LIS S (e dad aapdie

A.gdl
A. Wind
Als

B.gd

B. Sun
B.osaa

C. 314
C. Chemical
C.J5sS

D.URTa
D. Pencil
D.dwi

D.URIa
D. Pencil
D.dwiy

GET IT ON
Google Play

100 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic

expression ‘pay through the nose’ in the sentence given below?
If you drive into the city, you have to pay through the nose for parking.

A.To pay too much money for something

B.To get a free service

C.To get something at a very cheaper rate

D.None of the above
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Answer: A.To pay too much money for something

101

Answer:

102

e Treie ATfcrpdld TgTes TvsaT e
77,82, 87,92, 97, ..., 107

DIRECTION: Find the missing number in the following series.

77,82,87,92,97, ..., 107

enseS pwioadl ez Sda by,
77,82,87,92, 97, ..... , 107

A.103
A.103
A.103

B.108
B.108
B.108

C.102
C.102
C.102

D.106
D.106
D.106

C.102
C.102
C.102

e 02 5 i o g 33 oS oo 58 S oS Wlsa aue s B i bl

0| |8 =W S

(A) (B} (3] D)

A. (A)

B. (B)

GET IT ON
Google Play

HIAT: Wloiter FATd Scokidiel GATaTdehl $IoTea] Gl il ST STl Fded H6 7

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.
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Answer:

103

Answer:

LI W wyiae fodiedn gatardeT Heftid sieR/Rsa/Rem ST,
3R : Teg:: 3HTHS:?

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Letters : Word:: Digits:?

Colact gl s Lo ghad

A HISTo
A.Count
AL S

B.I=HATHSD
B.Numeric
B.s2e

C. I
C.Number
C.

D.Ho31&R
D.Alphabet
D.oa casm

C.g=m
C.Number
C.
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104 YT T Weitel AferdhT guf &,
GT,JU,MV,
DIRECTION: Complete the following series.
GT,JU,MV,
- S daSe S 3o dd e paiercylyy S J) g

GT, JU, MV,

AllV
AV
AllV

B.PW
B.PW
B.PW

C.DV
C.DV
C.DV

D.VV
D.vV
D.vV

Answer: B.PW
B.PW
B.PW

105 HiHT U fRrar 9 3f7g, TuT a1 SIT01 HIAT Uad T8 S HUlt 3T 9 3iTg. U, JuT Uall 39 318, T
ot -

If Shiva is taller than Meena, but shorter than Deva and Meena is the same height as Mani, but taller
than Sudha, then Mani —

e 5 e e g e o leaad ia e (S Une sl 2 Usen e I B e o oerdd e L 1l R0 -

A.(a) a1 O&fT 3 3718,
A.ls taller than Deva
A 2l s

B.(b) a1 Ue T8 3MTe.
B.Shorter than Shiva

B.— s — 1 sad
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C.(c) a1 3d®M 39 3.
C.Is of same height as Shiva
C. = el i |5

D.(d) T U&T T8 31T%.
D.lIs shorter than Meena
D.— Uses —wline

Answer: B.(b)fQ[aTa&ﬂ SEHREEIR
B.Shorter than Shiva
B.— User = |l

106 HAAT: WA FIATT HH 3 e Agd a4 TETE @se Hae 3. §A Hay adaredr Hai
ZofTderel 3, Wod® ade ofral SR Thlel IFHET O, T 9ead Aiateeed 4. a9T
A TEAT HOTT Welel TEHTAT AT 7@,

DIRECTION: The guestion below has three items having certain relationship among them. The same
relationship is expressed by sets of circles, each circle representing one item imespective ofits size. Match
the items with nght set of circles.

o Ul LS ol 085 Ly 5 S g L S 1 i SIS e e S 0 iy T 5 oo g B el
e P S gt a3 S g 515 55 T 8 ol o T Sl S 25

AR CAL

(A) ( )

Eevboard, Monitor, Mouse
wedle 1 fle om0

A. (A)

B. (B)

Answer: A. (A)

107 TRt fohar o= deauarTa! Horare! siueh fdaT TR aTiR ST 3ivTd Ad el Furdrd

Use of any drug or chemical to modify mood or behaviour that results in impairment is known as

LS ) Sl s @il i (S 56l e it S ea Jlestind IS JSGaS L 1 (o€ S 5 S it S 55 b3
=l
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Answer:

108

Answer:

A STTYTET TRATR
A.Drug Abuse
A. ilia — Slaxin 45 Gladiig

B.AIfdPR

B.Alcoholism
B. e —u il dasdl

C. 3w 1T /T
C.Medication overdoes
C.os8 yss S

D.UT0e! Uhe! -Ta!

D.None of these
D.us 258 = 0 O

A STTYTET TRATR
A.Drug Abuse
A. ilia — Slaxin) 45 Gludie

GET IT ON
Google Play

ST U &I G 9 3R FRT0RT Rigid o
The theory which says intelligence is a similar set of abilities is

o5 ¢ Qs IS lalia (S ol LG SOl ild S (G o 53 )l e

A.3F®H/UH 9ch
A.Uni/One factor
A B8, S

B.GH e Rigid

B.Two factor theory
B.sosed S8

C.9g gfauar Rigid

C.Multiple intelligence theory

C.oomed Qi) ypaliall S

D.ad0%! Thg! Tel

D.None of the above
D.uw 258 = o 0

A.3FH/UH UTHh
A.Uni/One factor
A S8 S, S
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109 I YD URATAT U W faUMriiad IR faem™ sgd Sai=amard! A, B, C 3101 D 34 IR faum™ 3iie.
HUIR faumTd SISt FHasT Same wd 3y gu=a e gaad, ST el faum dfhamesear va
faemreed fAfed s

e gARY® fdhar Heresann g,
A. iEUe AARG® 318,

B. feEte AARSI® gl

C. faaue fge dermarnn g,

D. f=ge deresarun ATt

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The Movie is either interesting or boring
A.The Movie is interesting

B.The Movie is not interesting

C.The Movie is boring

D.The Movie is not boring

in S s Ses Sluie paand g R Sl S 63 ) ue e ) e s 2 Sea o ales Sl G Vs syl
op Gtbe S ol S e Ahie lea 53 Hl by Se bl gl (S Alea £ g Abea Sy (L

Kb o gl by alé o
A cupla i

B e uplapli

C = Sspli.

D ot Kise i

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CA
C.CA
C.CA

D.AB
D.AB
D.AB

Answer: B.DA
B.DA
B.DA
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Answer:

111

Answer:

M=l 30T &7 30T hdes Teh 89T dlel, Ah0TH clleh IThEr.

81 Uh JYg WRa-d1 U g,
is not of one the elements of a group structure

"Cfu*é“iﬂ‘c“u*‘f‘uccsc?:’ui‘#ﬁﬁdﬁ\

A UHIUIh

A.Norms
A.clale

By
B.Status
B.oxifinl) cills)

C.Y[FrenT

C.Role
C.has

DGyl

D.Nourishment
D.x

A UHIUID

A.Norms
A.clale

GET IT ON
Google Play

Study the diagram and identify the people who can speak only one language.

o B Lot gl S i pem e S calin (S8 ol o) (S a1 ) LS

'ﬁﬁ@‘

Tamil

A L+M+0O

B.K+J+1
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112

Answer:

113

Answer:

114

Hqaam: * g agervararsr nfor fgerear waieor FAde wToarard Aford e sras Faee
ferasT:

DIRECTIONS: Select the correct combination of mathematical signs to replace * signs
and to balance the given equation:

L Juts S ilglue 8 Ay gl Bl Lo oy i 6% 80 p € Gt 8 ASie mpna S s Sl o

e

16%4%64

A x +

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
Lay by some money for a rainy day.

A.Spend recklessly
B.Spend extravagantly
C.Reserve for the future

D.Keep wasting

C.Reserve for the future

12% Uil I8 &M F. 3000 IT IHHAR fdhclt IUHL F. 1080 Td@ IR TSl [HDe?
In how many years will a sum of Rs.3000 yield a S.I. of Rs.1080 at 12% per annum?

12 P85 (e sl 558 i 551080 280 250 1S 55 3000 o3 dlie Sl i 3 (S 2adf

A3
A3
A3
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Answer:

115

Answer:

116

B.4
B.4
B.4
C.2
C.2
C.2
D.5
D.5
D.5
A3
A3
A3
Peiel T Wecral FHMIT <eg B0 2
AIRS
B.YdTl
c.fFgzf
D.&t
D. &Rt
WTitd weHe gy e ol (?) H1a A5

357 x 5/7 x 3/5 =7

What will come in place of the question mark (?) in the following questions?

3/5 x 5/7 x 357="7

g 18T LS Sn (S (8) s aill g e S g gy 3

3/5 x 5/7 x 357=7

A.51
A.51
A.51

B.153
B.153
B.153

GET IT ON
Google Play
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C.255
C.255
C.255

D.159
D.159
D.159

Answer: B.153
B.153
B.153

117

el A dIAed Tohell 39 Hgd7?
How many rectangles are there in the following figure?
Tl Jsiae S e S50 adey S

=

A.8

B. 18

C. 17

D. 20

Answer: B. 18
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118

Answer:

119

AT Wellel Y&l FEG=aT Tah gehsdaren (ST [ e / Bl gsar gaedr 3ed
d % TTsal Hled. § HEG 3adsedal WRAde AGdTam [Gadl. Scagad AR
37elt 3EAr fHasT S 3eeseuEy e TEEY 9idd gaidear AT THe.

DIRECTIONS: In the following question_ a sheet (square circle/triangle) of paper is folder and punch is
made When unfolded the paper sheet looks like the question figure See the answer figures and select the
one that follows the manner in which the paper is folded and punch is made.

iz oS Aed e im o 8 Wil iy S5 Aed (bl cpue dills) Cud w328 e Jlaw B s —ai sobly
Sod 58 G 32K S Rl 52 iz Sl S oS 58 ekl wulsa o 0 2ok oS Kb g dud oS 352 S
— B Lllgy S5

(xX) (A) B) © D

3 ST T S Uarui o SrReiel SHHTa Adrd
A child is born a drug addict than if

KN b gale S cilpfiia saly ) (ol aay S

A AT 999 B A 3iHel uerd sresren Yad uargTd ey

A.drugs used by mother pass into child’s blood stream
A= UaDa (e S S S o =SS Jlenind K Clpdie e

B dRURIRA T a9+
B.addictions inherited
B.= s Fsose

C.TTdT °d 3yaiet Siaeh uerd TOREHNT QY gr HRdd

C.drugs used y mother treat defects in chromosomes
C.2 S s S pali Sasuges S S Jlenind 8 Cladia la s

MENKECHEI RN ]

D.none of the above
D.us &S o Yoz oo


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: A AT 999 B A 3iHel uerd sresren Yad udreTd sy

A.drugs used by mother pass into child’s blood stream
A= Ua D (e ) S S oo =SS Jlenind S Cladie e

120 Hidare aH ga 3MTed, Th ST GarT 318, SR SRIATT STediad ad bl 3MTg. S ST SR
1d BI?

Kavita has two sons; one of the son is Ishaan. Ishaan is married to Ishita’s mother. How is Ishaan
related to Ishita?

¢ o iy LS e w13 S LB e e (e (S Akl g0l S Gl Gl Vi Sl e i g0 Sy S

A HISH
A.Brother
AL

B.®Ich]

B.Uncle
B.Lx

c.dsa
C.Father
C.«b

D.He
D.Son
D.ty

Answer: C.dsid
C.Father
C.cb

121 &M U RTAT HiSgal dgl HISUg! SHIfUT &ie Hisfug! T 3Meesdrd.

Two types of scales short scales & long scales are found in

U dgaga 538 el )l gl 5 pealia ae g 5 S el g2

A.MPI
A.MPI
A.MPI

B.MMPI
B.MMPI
B.MMPI
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Answer:

122

Answer:

C.GMAT
C.GMAT
C.GMAT

D.RIT
D.RIT
D.RIT

A.MPI
A.MPI
A.MPI

TCIA §9 § I1 axdTaR SR 3MTe:
An Atom Bomb is based on the principle of:

Ui el S S

A.TRHTY] fade
A. Nuclear fission

B.ORATY] sy

B. Nuclear fusion
B.0Jsd S o

c. o ImafAe ufafear

C. Simple Chemical reaction
C.dae,) JSasS (s

D . TT0] Thg! ATl

D. None of these
D.u 2 &S oo O

A.TRHY] faeeA
A. Nuclear fission
ALid S o

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

123

Answer:

T § U Wiehtd dTfgdiar S $ied.

GET IT ON
Google Play

eI gd - A, B, C, D, E 3If0T F & I -1 48 IR faRb e 9ud sl 3Hled MU g geil P, Q, R, S, T
30T U AT -1l A gferor foRidrs 9ud S9aiedn 3fed. i -1 Add U ot IAT -1l FefedT U oqad <

3ATE YHR ST 3778,

T 81 D =1 fd%g S9dT 38, S paedlal i TIHIaR S¥aal Ale!. P g T =1 dicbies STdids 3g. E f3
DIVATG! CIbTel Sl Als! d4d D =1 SIS[al g Syaien gl U fg C =01 R sl 3iig, St F &1
SIAh g GURT 312, SRIER 1+ odit P 3MfOr U =01 Hell S9ad 314, Q fhaT R § SEie! U T DWTRT AT,

s fg Q =1 gHIy cielt A6l B 81 A T Iuldids 3iTe.

Tt BT T 3R?

DIRECTIONS: These questions are based on the following information.

Six boys - A, B, C, D, E, and F are sitting in row-I| facing to the North and six girls P, Q, R, S, Tand U —
are sitting in row - |l facing to the South. Each person from row-| is facing exactly one person in row-ll.
T is sitting opposite D, who is not sitting at any of the extreme end. P is to the immediate left of T. E is
neither sitting at any extreme end nor adjacent to D. U is sitting opposite C, who is second to the left of
F. Exactly three persons are sitting between P and U. Neither Q nor R are neighbours of U. S is not

sitting adjacent to Q. B is to the right of A.
Which of the following is true?

S35 e2 - AcBe Ce D E sl F — S| (S5 ea sl o e i oS 6518l (a - P Qe Re Se T sl U — k|
D o ol g S FH S i e U (adS (el - o L el Sl S (add SOl Uxe

TeD -2l o e U o (oS 53 o 2 oetn JBalh _SPeT . b b god SE gy oom S (oS 50
oD o d SUCC s o e Badh _SF . o) us —wcaph il SP s U o8 Sagd Ol S
Sriop 0SS Q S RU 0p o3 2SS Qo 0 o Jie SBeA o b sl S

§ 2 ) OS  0pe d Aake

A.E BT R =1 JAR T 38
A.E is sitting opposite R

AER =l Jlady <

B.D BT A 1 ”SIRT 3T
B.D is a neighbour of A
B.D¢A = s S

C.FETBEITSWWWWE TIoR S 3]
C.F is sitting second to the left of B
C.FeB = n pr ey —w o S

D.T 8 Q =1 ST 9o 3R
D.T is to the left of Q

D.Tc Q = <ok il S

B.D BT A 91 JWRT 3118
B.D is a neighbour of A
B.D«A = s &
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Answer:

125

I Teld uige e yaiaiayd deftid &R g Hasr.

HJLN: PRTV :: JLNP: ?
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DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

HJLN: PRTV :: JLNP: ?
.wﬁ@%;)g&ﬂalsq‘jﬁcauyddwcﬁ\gdd6u§Ad‘}udﬁb,\;JﬁA:w

HJLN: PRTV :: JLNP: ?

A.RTPL
A.RTPL
A.RTPL

B.RTPK
B.RTPK
B.RTPK

C.RTPJ
C.RTPJ
C.RTPJ

D.RTVX
D.RTVX
D.RTVX

D.RTVX
D.RTVX
D.RTVX

Rl S URig velt SR 3g?
Which is a famous bird sanctuary located in Haryana?

oly s (S Usda Dsedie S @l s AL (bird sanctuary) ¢ =

A gIdYR
A.Sultanpur
A. U oy olals

B.HRAY
B.Bharatpur

B. U Qe
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Answer:

C 3Tt
C.Rajaiji
C. o aal)

D.IREHT
D.Sariska
D. e By

A HdYR
A.Sultanpur

A o s odals

W] B Y WBTg SR?
Who out of the following is a tennis player?

= GMS (S s el

At Riy
A.P.V. Sindhu
A A 55 (2

B. T Hgard

B.Saina Nehwal
B.J s Al

C.5dTedT T
C.Jwala Gutta
C.E Yl

D iUt PIvIde! ATl

D.None of these
D.od &S = el

D gt Biurag! et

D.None of these
D.us 255 s ol

GET IT ON
Google Play
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Answer:

128

Answer:

129

T Uh Tl o1, Hl Tl Jall 3Hidsd a4l f[asbRid HRkg fauM arak 1R ad

‘Give me a child, | can develop him as | like’.
This statement gives emphasis upon—

o N e e s WS S LSl (e e A SO e,

=S ) o) Ol -

A.TgfaRu]

A.Environment
Al sala

B.3{TafRrehdl
B.Heredity
B.s0

C.T 30T &Y gt
C.Both Aand B
C.A_s B usis

D.adU®! BIEre! ATt

D.None of the above
D.ost LS = e )

A.TgiaRu

A.Environment
Al sala

GET IT ON
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Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Curiosity

B.Excstacy

C.Experiance

D.Existance

A.Curiosity

AfaER

B.Uls
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Answer:

131

CHlls

AfagR

O DHRUGTd Tl [ d IEuUl Sfida gl Sydid HiSR

The storehouse of repressed forgotten sublimely perceived experiences

L Deo =5 e sb sl S 368 s a5 0nd dsale gl S ESD

A QTS Sy

e =Y
84563286 — 48956218 = ?

Simplify:

84563286 — 48956218 = ?

U...ﬁl_u m\.._u:

84563286 — 48956218 = ?

A.34607068
A.34607068
A.34607068

B.35606068
B.35606068
B.35606068

C.35507068
C.35507068
C.35507068

D.35607068
D.35607068
D.35607068

D.35607068
D.35607068
D.35607068

A.Personal unconscious

AN (S

GET IT ON
Google Play
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B.3faga@dT

B.Introversion
B.ouwikl

C.3ffe=u

C.Archetypes
C.eii <)

D.SITaRIT
D.Conscious
D.wd

Answer: A Jufade araly

A.Personal unconscious
Aoy S

132 &I oKl A IO B it UhHob =T fR- Auarg i e fEaTunigH JReard dbefl. SR i et ol
3:5 3R, IR Neugre fagudd A ST B TEigR UR daiedT SfaRTe SHH TUIRR &1 387

Two persons A and B started from two different places towards each other. If the ratio of their speeds be
3: 5, then what is the ratio of distance covered by A and B respectively till the point of meeting

A8 53 A sl B alie S clidle 55650 315 i 1S i) (S o) SN LS g 558 shu w98 Calide 3 Gl (S o g S
il SEA sl B WS e Alald LS

A.1:2
A1:2
A.1:2

B.3:4
B.3:4
B.3:4

C.3:5
C.3:5
C.3:5

D.5:3
D.5:3
D.5:3

Answer: C.3:5
C.3:5
C.3:5
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Answer:
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Answer:

135

a1 Areta rgcran uroft feer fSrarew Fidme daifed Har smar

Most known animal phyla appeared in the fossil record

oila pslra odly) s s s S35 dua s phyla - Uls Ul

Wt el a1 BHIUNd 2

AT 3fTaTs! U ol STeR STel.
B.&a a3t Hl YHR THUITAT aRIT Hdl.
C..3{TdT T3 SR JaTaR 3Te.

D. TS aT UTgH T 3T T,

B.Gea dool U YHR S0Tel a7 Hdl.

ARIREE 3 g1 MY Y e —
Mauritius is an island nation in the continent of-

= Sk YT N1 ) C— ?Lr_‘ BYEE N

A SITRIT

A.Asia
ALl

B. 3T
B.Africa
B.~a 8l

C.IRT

C.Europe
C.cus

D. 3 ferm
D.Australia
D.LL sl

B.3MhdbT
B.Africa
B.~u Al

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

A FHEIYSIT U

A.As marine species
A osh S Uil s tien

B.3=UIRUI U
B.As metamorphosis
B. b osh S oshls

C.RIaqs! TUH
C.As heterotrophs
C.heterotrophs _ sk

D. a3t Id
D.All the above
D. YL ~adia plad

Answer: A.FIH?TEIGIFF[ B[

A.As marine species
Al Dy osh S Ul s tien

136 Choose the word which is opposite in meaning to the given word.
RELUCTANT

A.Willing
B.Unwilling

C.Unenthusiastic

D.Opposed

Answer: A.Willing

137 g =Y
86.86 + 999.99 + 1.11 =7

Simplify:
86.86 +999.99 +1.11 =7

oy sl
86.86 + 999.99 + 1.11="7

A.1088.96
A.1088.96
A.1088.96
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B.1087.96
B.1087.96
B.1087.96

C.1089.96
C.1089.96
C.1089.96

D.1090.96
D.1090.96
D.1090.96

B.1087.96
B.1087.96
B.1087.96

I Wl fedean faur (A) Sfor HRu (R) I8t Wreid Ut 9 watg fAge:

I (A): DicREH Igferd SMERET Th Hgwdral Y 378,
BHRUN (R): Y 30T ST DHieRITHA TG ST

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Calcium is an important part of balanced diet.
Reason (R): Milk and eggs are rich in calcium.

Ol s o 0 (A) U (R) 28 osiie i e e e s e S oot

Oioml (A): = mas 2l SN S () 5l apdlS,
A5 (R): = U WL arillS 50 560 e o s33) sl 2250

AT (A) SO (R) T 3MTed ST (R) (A) T T TBTHRT TR,
A.Both (A) and (R) are true and (R) is the correct explanation of (A).
A. (A) U3 (R) L) oy e 05352 (R) (A) = Caliay Qs 3 (S

B.GIgT (A) 3TIUT (R) T 3MTed, T (R) (A) T 1T TSI A6
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) U3 (R) 8« gmnan 05550 (R) (A) = o Caliay a3 (S

C.(A) I 318, I (R) WI< 318
C.(A) is true, but (R) is false
C.(A) SNz pna(R) bl

D.(A) @IC 38, Iq (R) I 31T
D.(A) is false, but (R) is true
D. (A) S = B (R) = o
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Answer: B.GIg! (A) 30T (R) ¥R 3Med, W (R) (A) T AT WBIHRUT ATg
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) 251 (R) o5 cow mmam 05352 (R) (A) = i by s a0 S

139

Answer:

WAUD! DIvT TN fIged B Tpar?

Who of the following can dissolve Rajya Sabha?

o U S st o L mand ) 08 s e dd e

AT
A.President
A. a

B.UdUYT
B.Prime Minister

B. abe) 5

C. T HT U
C.Lok Sabha Speaker
C. Sl S

D.fa= w4t fage oo SId A6t

D.It can never be dissolved
D. b s WS (e Jalat Sl

D.fod wefa faged oo ord A6t

D.It can never be dissolved
D. b s LS (8 Jilas oSl

GET IT ON
Google Play
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140 LI AP UAS THHE S fAuTHaR i Fsme 1, 11 ofdn 111 e e=ifaa Sied. g0l Argia
AT TATERISR o e axt WIeitdl [ T TR 3R Tl 1T feied faemias dob T
T feaean fspuftet Hiud 9 smed o 3xdT.
fAda:
Td AT 9T TR,
Td Sic ¥e SR,
fm:
|. T4 e AT 3.
II. BTE! T 7 ¢ 3T 7 Wic.
lII. DTG YT A< ATg.

DIRECTION: In each of these questions there are two statements followed by three conclusions
numbered [, Il and Ill. You have to take the given statements to be true even if they seem to be at
variance from commonly known facts and then decide which of the given conclusion logically follows
from the given statements.

Statements:
All nets are jets.
All jets are sets.

Conclusions

I. All jets are nets.

Il. Some sets are neither nets nor jets.
[ll. No set is a net.

e 0l G S o g =8 0 il 50 e Jlse SO g e e il e ] ) (I il 28 0 Sl 8 0
i K (S S S abad e sl o ) DB e S Bilis aglae y jshiale oy an 81 o LS alud Cas S
o S om S by 8 o sk ke

bl
L P

| o G S g
| IEETYRCNENpPPR URTTRCIT I PN RPN
L e S i S

A Fdos spY | fFad e
A.Only | follows
A pal 2GS Goom

B.®da ey 11| Fud e,
B.Only lll follows
B.<t s lll - = B_S m

C.%des pY || Fed e,
C.Only Il follows
Ccall = BS s
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D el Uep! PIurdre! g,

D.None follows
D. =2 US b om0

Answer: D .@Tcid Ut phIvaTa! ATgY.
D.None follows
D.—= B S ted ssom S

141 1,8,9d 14 T TRERL 3MTB:

The average of 1, 8, 9 and 14 is:

1,8,9 = byl K14

A.8
A8
A8

B.5
B.5
B.5

C.6
C6
C.6

D.2
D.2
D.2

Answer: A.8
A.8
A.8

142 STAdTeId Ho Wi Sieol § T a0 3R
Lying in preschool child is a sign of

d@&ﬁ&kﬂyéﬁaw%dﬁ“\gﬁ

A YT

A.Expressive oneself
AC.:\) J%\ CS REEN
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B.lasRia gfgas

B.Developed intelligence
Bl oS il

C. AT T a0t
C.pleasing the parents
C.o 8 Ui S ol

D. Ut Id
D.All of the above
D.e Yoz 0

D. Ut Id
D.All of the above
D.oe Yoz 0

GET IT ON
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143 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

A place where beer is made commercially

A.Brewery
B.Bakery

C.Scullery

D.Pilgrimage

Answer: A.Brewery
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Answer:
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faem:
HH qoliges YR I SHTRRISIY Uldedtoak Wl 6 Tebd Agha.

FolTal HI:
|. YRS ST SRS TS WihRa urfgor.
1. U IR AT g (A0 suararat fhHd areardia.

Statement:
Indian industries fail to compete internationally due to low standards.

Course of actions:
I. Indian industries should adopt international standards.
II. Indian industries should increase price for creating perception of standard

'l_\.\'
ok
‘o oL e S Al sl Jad S8 s s S Jlma oS (s (0

Jao ~aaY:
l- s U Ll 38800 Jads 51 5S (5 a0l .
I1- s LS bl (e (siad ol S (385 S jaual S e oS (55l (8

ATHE | 38R 3T
A.Only | follows

A Cipal & o LY

BT || AR B 31T
B.Only Il follows
B. Cia |l & 5 &Y

C.UHhR | fobal 11 TS 38
C.Either | or Il follows
CILIAE 5 &Y S e

D.| fha1 Il SE10®! HTRIE! SFIERU B ATa!

D.Neither | nor Il follows
D. 1o 118 5 G KY g2 (PO5S = Uxe

ATHE | 38R 3T
A.Only | follows

A Cipal & o &Y
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Answer:

146

7168 x 562 = 562 x ?

7168 x 562 = 562 x ?

7168 x 562 = 562 x ?

A.7168
A.7168
A.7168

B.562
B.562
B.562

C.7164
C.7164
C.7164

D.522
D.522
D.522

A.7168
A.7168
A.7168

a: feaiean warameys e Wss fHasT.
A S9Y Sed 38 S ferdidieiar Ja .. Jied 38,

DIRECTIONS: Choose the analogous word from the given alternatives.

Nephology is to clouds as Limnology is to
oS Sl 1S Badl gildae s Jalgie 8 _n ey

T — shsied 5 o Glaia S Lol &1 gl

A SR
A.Water bodies
Aua) S b

B. & groft
B.Mammals
B.oss dis SShase

GET IT ON
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C.RleadHT
C.Lyrics
C. S

D.4H

D.Religion

D. «ux

Answer: A NSTARIY
A.Water bodies
Aua) S b

147 9:53 &1 fifAe 301 I HTcaTe=T™ HIvdT HIT TT?

What is the angle between minute and hour hand at 9:537

9:53 U (i sl ) L o€ Gl pms (S ATig& 5 Sty

A121.5°
A121.5°
A121.5°

B.21.5°
B.21.5°
B.21.5°

C.130°
C.130°
C.130°

D.68.5°
D.68.5°
D.68.5°

Answer: B.21.5°
B.21.5°
B.21.5°
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Answer:
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310 TR R ST B I-eTeared Yo el faenff daar yHmng e A€, aite! SHiord My SeTear

Afg=arAed HHId HH TR fegd?

It has been seen that the students lose much of their learning during summer vacation, which one of the

following shows the least depreciation over the summer months?

prase SOl L€ e b e 0 S ila iealy) S S eSam 0o S osfer Sl fauseslih S S8 S0

§ S i S oS oS 31 S e s S Lo K

A. 3BT

A.Arithmetic computation
A a2 (S el

B. 30T dh
B.Arithmetic reasoning
B.JYaiul Sl

C UfagTRie drRET 3for {3
C.Historical dates and places
C.alalin )3l Gaag )l A5

D.foRmfrgi= fAaw 3ifor saresvor

D.Rules of punctuation and grammar
Dl sun 53058 S el £

B. 3O b
B.Arithmetic reasoning
B.JYinl Al

Hafd Hogd 8T Y ¥
The strongest bone of the body is present in the

S 2 5e e mmmmmmeeee Ghbsnas wc (Saua



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

Answer:

150

Answer:

151

Answer:

D.HiSld
D. Thigh
D&l

D.HiSld
D. Thigh
D&l
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HIFIUTP § Uit SUBRUN gid ST TSR Aig B JTaR | h3= Jdhal:

Phonograph was the first device that could record and play back sound, invented by:

S 2 o) (S en B la Wy sl B e LS S0 58 510 (S em mmapd S a8 il 3 Dl 3l R5i b

A3 P e
A. Isaac Newton
AR s Sl

B.UTHY 3fedT Ufeg
B. Thomas Alva Edison
Bl 151l e el

C.URIRRR

C. Lavoisier
C.oussd

D.HTh AT

D. Marconi
D.ssS )k

B.UTHY 3fedl TfSTT
B. Thomas Alva Edison
Bl |51l (s

‘HdaR * T Yeardt el i,

AFT + 3R
B.Hd + 3R
CHI + IR

D. AT + 3R

CHI + 3R
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152 Rrevarn sy wors

The meaning of learning outcome is—

ot rllne S 5 S e

A fagmeafen 9dq Al gad

A.The change in student’s behaviour
Abas g o) Sale Qllla

B.Rierdi=r e ugdiaed daa

B.The change in teaching methods of a teacher
B.hadi Gpe (¥ Ayl S ol S

C. iR ufvsmRur

C.The refinement of content
C.lia (S Jsa

D.adU®! Brere! ATt

D.None of the above
D.ost LS = e

Answer: A fa=meatear gdq A ged

A.The change in student’s behaviour
Adns e g Sale il

153 209 x 201="7
209 x 201="7

209 x 201="7

A.4209
A.4209
A.4209

B.42009
B.42009
B.42009

C.420009
C.420009
C.420009
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Answer:

AT Thellel HGd Fidide M Hel.
DIRECTIONS: Find the mirror image of the figure given below

o830 LS K ugSon abil oS Kb & s a0l

HET ATl

Question Figure:
T Y

2

Answer Figure:

L ol g
(1 (2)

B3| (B3

(3) (4)

3| (B3

A1l

B.2

C.3

D.4

A1

D.42109
D.42109
D.42109

B.42009
B.42009
B.42009
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155

Answer:

156

P ITATAYR B o ISTYTT 3Tg —
Kuala Lumpur is the capital of —

= Sl salY) S

A TR

A.Malaysia
A.S bl

B.HdH
B.Bhutan

B.S (bse

C.UTS
C.Thailand
C.S Tulilgs

D.RiTgR
D.Singapore
D.oS L K

A TR

A.Malaysia
A.S bl

GET IT ON
Google Play

Historically, the basic factor involved in the promotion of pupils in the conventional school was their—

e S O e ol Sisle (e i g 558 S sale b ae JsSeu) Sl s ¢y sh Al

A GHFER a9
A.Chronological age
A ee JSaaslsig S

B.THII® gRyehal

B.Social maturity

C . Reifore T

C.Academic achievement
C.belS (canlas

D.gfgH

D.Intelligence
[DRSEEN
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Answer:

157

Answer:

C.Reifores Twr

C.Academic achievement
C.belS (canlas

LI T wyiae fodedn qatardeT Feftia sier/RsaiRe s,

BITANST : §Td 22 ?
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DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Glove :Hand :: ?: ?

oS e paailailfc a adleie —w Jalie 8 5 (e s D~ ydie (e

LR S EIL kY

AAM : BIR
A.Neck : Collar
A NS g R

B.<TT : X
B.Tie : Shirt
B.&d: JSG
C.HIS : Be

C.Socks : Feet
Cormic)s

D. I : Uldbic/ Uih !
D.Coal : Pocket
D i

C.HN P
C.Socks : Feet
C.ouicis
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158 ot eear aRHT 39T (3EeE) HEUIET HFHdT e Fer.
DIRECTIONS: Find the odd figure from the given four figures.

€ e i€ S0 Gl e aBl e K s ribiy
A B C D

A. (A)

B. (B)

Answer: D. (D)

159 e Treia Uy feden Tsgiar 3metid Simed.

here/ bright/ pride/ stout

R faeiedn Ysaied TR gHite S&RH Saaied ar Sel-Ta S ATl YEoaT &R daadt ax fdbdl Wsad
A fHAM T WR 3l

DIRECTIONS: Following question is based on the given words.

here/ bright/ pride/ stout

If in the given words vowels are replaced with its previous letter and Consonants are replaced with its
next letter then how many words have at least one vowel?

o daide prisadl o 0 dlse S das Gy

here/ bright/ pride/ stout

§ Sl S My dels Socipm 8 Jdady v K S amndcim oa K Sia p wgsd ol R

AUD
A.One
A

B.aM
B.Two
B.s
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cdH
C.Three
C.o8

DAR
D.Four
D.o»

Answer: D.dR
D.Four
D.Js

160 Teh] IHTAT WG fhHTH X T HTU e 36 TgH UUT UHARBAT Joh ST HE BT T 317G,
AUl e i =gR 3red favdll dgM gabs SHlgd?

A cube is painted and cut into 36 smaller but identical pieces by making the minimum possible number
of cuts.
How many smaller pieces have exactly three painted faces?

o e 558 S oSin S, g KIES (Raa oS _w oS W8S S0 0 K (e 033K 36 s S S S S
S Un )3 Soa

A2
AA12
A.12

B.8
B.8
B.8

C.36
C.36
C.36

D.24
D.24
D.24

Answer: B.8
B.8
B.8
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Answer:

162

B.ATRd®

D.d&dl

B. A%

GET IT ON
Google Play

=T WTeia Weait ST e IR ATSUR H.

(a) Mother
(b) Monitor
(c) Monkey
(d) Master
(e) Matter

DIRECTIONS: Arrange the following words according to the English dictionary.

(a) Mother
(b) Monitor
(c) Monkey
(d) Master
(e) Matter

-0 S e S Bl 3 s ke (3ilae S a5 K01 1wl

(a) Mother
(b) Monitor
(c) Monkey
(d) Master
(e) Matter
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Answer:

164

T 3O ST 3RIGH 81 ATl SaTER0l 3ed
Balance and cognitive dissonance are example of

o ol S S5 sal Hhaas sl OO 5

A YIS Ffaarad

A.Cognitive maintenance
A bdlsg s

B. ST FETAUUN

B.Cognitive consistency
B. SN Sl

C SIYTHD UHTa
C.Cognitive influence
C.8l (Flaa s

D. G-Il GETaUuT

D.Attitude consistency
D.3us S s

B.SIeTcH® J-TqYUN

B.Cognitive consistency
B. K o

|rdc gl 39 fRud e
Silent valley is located in-

= &l ey ila

A STETH
A.Assam
A. AL

B.d&

B.Kerala
B. Al <
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C.31hIdT
C.Africa
C. iy il

D.3MYUT
D.Andhra Pradesh
D. G ) pal

Answer: B.

B.Kerala
B. A<

165 =T TrferesT guf =1
IK, ?, QS, UW
DIRECTION: Complete the series
IK,?, QS, UW
58 daSw S 7w ol Gyl

IK, 7, QS, UW

A.OM
A.OM
A.OM

B.MO
B.MO
B.MO

C.NP
C.NP
C.NP

D.PN
D.PN
D.PN

Answer: B.MO
B.MO
B.MO
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167

Answer:

" e 3 A" I T d A HIUT Ted?
Who is the author of the book “The Great Indian Novel”?

o Ciae S Jol cpll Sy K o

A TR YT
A.Shashi Tharoor
Al Al

B. 3T fOH
B.Amrita Pritam
B.ab Gyl

C.3ffAar ¢
C.Anita Desai
C. Al iyl

D.JUTS TSt

D.Pranab Mukherjee
Do 550 iy

A TR YT
A.Shashi Tharoor
Al A
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168 I YD URATAT U W fauMriiad IR faem™ sgd Sai=amard! A, B, C 3101 D 3 IR fau™ siie.
FHHIR faumT SISt fHasT Same wd faum™ gu=a e Jaad, ST el faum dfdamesear vE
faemread fAfed s

SiegT gret 3 & e, g IaTae ared
A. T U & foar

B. g% ¥ <1 Ui g

C. JHd Ta199d dled

D. gHd 9= dled ATl

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

When you drink green tea , your metabolism gets up
A. you drink green tea

B. you did not drink green tea

C. your metabolism got up

D. your metabolism did not get up

in S O Se Sluie paand g R S w i S 63 ) e i) e s an Sea o alea SOl e Vs syl
op Githe S ol S e GEhie e 93 Hl by So Ll gl (S Ales £ pugd alea Sy (L

d@)&u)ﬁamﬁyiﬁuﬁc"w;wﬂ%]m
AU:‘t‘c:‘:‘:.‘asﬁL'J:‘,)g‘T‘i-
Bow o Sl
C\)Z:C’_w‘).\.'ﬁa.\ul.s%].

D\ﬁ%&u)ﬁbﬁuﬁ%‘.

A.AC
A.AC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC
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169 42 gateaT giItd, feaam Afaarear RIMER SREH fdeTge HRT TS RITTER 3Tg. TR JdgA HRdd ®IH
fdaa 2

Bharati is 8 ranks ahead of Divya who ranks twenty-sixth in a class of 42. What is Bharati’s rank from
the last?

S oaa 0 WS e AT AS Sle o punens 0pe 008 (S 42 4a 0 B o ST4a 108 st Sl

A(1)9d
A.9th
A.9th

B.(2)24d
B.24th
B.24th

C.(3)254d
C.25th
C.25th

D.(4)34d
D.34th
D.34th

Answer: C.(3) 25 q
C.25th
C.25th

170 0T UehT SIo[E! dfdll 24 Hiex 318 TR ATl guR! aToL SH1fUT U1 Jrearaelia HRe 8 Ut 3], Hurd! afelt
B 38

The length of one of the side of a triangle is 24 m while difference between its other side and
hypotenuse is 8 m. The length of hypotenuse is

2GR S i 605 S e 8 e gn =S iy sl Gl (st Sl ASan o e 24 Sl (S Gl SO S Sl S

A.28 I
A.28 m
A.28 fix

B.32 |l
B.32m
B.32 jix
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C.40 |
C40m
C.40 fixe

D.49
D.49 m
D.49 i

Answer: C.40 Ht
C40m
C.40 fiw

171

Answer:

172

Answer:

WIS G XeG BV ?

AZE
B.fog®

C.ald®TI
D.310GR

B.fog®

‘ X TSI * T IIFERTET 37 BT ?

A.g:IH BTl 989 U0t
B. Bl Uul FiT0l
C.ATITaFIT AR

D.ST3TdT g8 UTSTol

AT BT 9857 °Ur
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173 LI G faum it @R IR 5By, 1, 1, 11 31T 1V 3 emgd. 81 faum Sr=ia: 1 aegiRudioen i

SRTCT TR T 3MTed S HOI. fedieamtie! Hiurdl ey feaiedt faumias Tam! dledl 43, Tl § IR
BRAT TR T IR Jford Bl
faem:

(a)ﬂé‘@@@ﬁ&@ﬁ@ﬂ%ﬂ
gg;‘ﬁmaw&r%ﬂ

wa‘@w;{w&n%ﬂ
II. 4 GEpd oufad GRIferd 3med

DIRECTION: Two statements are given following by four conclusions, I, Il, lll and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) All players are educated.
(b) All educated are cultured

Inferences:
I. All players are cultured.
[I. All cultured persons are educated

uﬁm‘)guyﬂi)l%ﬁs};wujd:dg\g_ lell¢ |||)_3\|V_C’_u!.3a_9u,,mc'\153,\%)§\sduu&hu)du‘i\lnﬁgﬁ*ae}}sg?ﬂ.
L Lo DS e St s U S JLEA) l g sk 1y w g ppadd 8 Sl GBS Cidae s Bl o L
o S U0l s,

Ol kel
uR C‘;‘j Lj“ Gj)"zs pla
o S N 3 el

DA
lom @3 530S alai
o C‘fﬁ Ljﬁ. Sl e plaic

A.Fde | fspy fAed

A.Only inference | follows
A_\_'ﬁ)m | = Gy ~aalA

B.&ae |l ey (Ao

B.Only inference Il follows
B‘—‘)—a” ﬁm)awﬂi

c.arg! | 3nfor 11 s e

C.Both inference | and Il follows
C.l sl p sy 5390

D.1 fdar 11 fAspd fRguR A8
D.Neither inference | nor Il follows
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Answer: A.$das | sy e

A.Only inference | follows
A_&J‘)m I = QL\MJ.J oA

174 T S1dqul Uik fFafor Hroarret, @ faaet (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIehd
ARG T, IR @relTd Ui ST .

P. UIUET g UToll RT3 T8UId, RIGR ST 81 UTaues Urg- S des’d Tl USRI Hdl.
Q. T feaxit, T AT Sfor wrfaa=relt RIR! a1 Tt F=m=A1 4R Y1ad Bidl.

R. TigR TSR dheread RieR! $A1 RieR e <dl.

S. AT dl B 373"

T. T RIGRT A1 SR Sl : 1 U] ST 41dd gidl 101 Ht e WIoIRITSY 4Tad g,

JREAT FedHdR WTeades! HId arad 9y SRd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. A herd of goats watching this mocks the hound, saying that the little one is better than the beast.

Q. One day, a strong and powerful hound was chasing a hare.

R. After running for a long time, the tired hound gives up the hunt.

S. That is the difference between us.”

T. To this, the hound responds: “The rabbit was running for its life, | was only running for dinner.

Which of the following should be the FOURTH sentence after rearrangement?

ostex b o) bl (P (Q)¢ (R)6 (S) sl (T) st =8 0 2 ey ¢ i i o Jlgs ) Sl | m giee by S
—a Sls S

P = lea) = sl aaom Vs lser SO S S8 g0 K 58 IS0 (S LS S a5,

Q &k Sl S ER A L gl )l bsune Syl ¢ g S,

R. LaSsen J8S o )l Sebean S 5355803 paaaly),

S. 2GR U S s s

T oos b Sl A S S il J& (e o 2 L) Sl A S ol ) ST s Gl 5 S e e,

f e lnlgmadale Sy S dnquys b

AT
AT
AT

B.P
B.P
B.P

c.Q
C.Q
c.Q
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D.R
D.R
D.R

Answer: A.T
AT
AT

175 LI : WA feciedT UYTEed el faum oft] Higt Fhd S1gd. AE-ATd: T dTUET d a7 SRIdd )
fEcielt faum qreTar I AFa! anTdie SMfol AR fededt faum SrHRu fademiet Hior ey

oC Y
dlfdpeted] HRal d BT,

faem :
M>A2B=QsP<J<Y
e -
.B<Y
. AzP

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
M>Az2B=QsP<J<gY
Conclusions:

.B<Y

N.A=2P

oile el S Glia s sy jshole Sl 81 Ga o g il a8 aay S Gl 42 (e Jl s D a1y
3 sk Alikie i Lui oS WS Lo Gae 3 A8 (3 S Al IS b Gl e ol oSy o gl iy 8 oGl e 6 X i
= S o S alily K,

Gl
M>A=2B=Q<sP<J<gY
i

B<Y.l

A=P I

AR Bad | e @ 3mg

A.If only conclusion | is true
Ay R o G pd aagis
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Answer:

176

B 17118 dleiel ey @ gl

B.If neither conclusion | nor Il is true
B. SN sl G i yd (ot (S s e il

C. R Had || ey @RT 318
C.If only conclusion Il is true
Coraii Cipa S| = S0

D.R | far 1| 1t Ue s @Ry 3mg

D.If either conclusion | or Il is true
D. SV Ll = e pn S s e Bl

AR B | ey TR 3R

A.If only conclusion | is true
Au)m;\l dg"_\.ujd,\;:\ﬁ

fASeT: WTelier a1 Bresiydes T 10T Welt facrear usi=h ST &

B5R1@QE K4 F 70DAM 2 P 3%9 H I W 8*6 U JSV Q#

GET IT ON
Google Play

SIRIFT AT STdl H g JaRTo] UchT=AT ST dTefal JIdd] gcdh DHIudr?

DIRECTIONS: Study the following arrangement carefully and answer the questions given below:

B5R1@QE K4 F 70DAM 2 P 3%9 H I W 8*6 U J$V Q#

Which of the following is the seventh to the left of the seventeenth from the left end of the above

arrangement?

N A UL PN X U P PR I P 0 < XU SN PR S JUIFIAY
B5R1@EK4F 7©DAM 2 P 3%9 HIW 8*6 U J$V Q#

$R LS Copa Igile S il Al S Caga oo Jliu gl 0 Gae i i sl

A7
A7
A7

B.W
B.W
B.W

C.*
C.*
(O
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D.4
D.4
D.4

Answer: A.7
A7
A7

177

Answer:

178

9T RHR Ae fee Sl
The Nobel Prize is given in-

= U Ly 3 g

AAG
A.Norway

A.um o508

B.Rasa
B.Sweden
B.us (S su

cRasids
C.Switzerland
C.ume Sl ) 3o pm

D.fFcTs
D.Finland
D.oe 3ud 08

B.Rasd
B.Sweden
B.use Ol s

256 = (4)

A 4

B. 1

C.3

D.2

GET IT ON
Google Play
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Answer: D.2

179 FHeltad Mesd UfaHTaE Jard! fRiedt w1 IUal gIvard Jayd S 38

Probably the basic cause underlying the teacher’s relative neglect of the gifted child in school is—

dwgd@\&j‘&\#ﬁﬁbﬁ@lﬁd\fm\uﬂad;ﬂa\‘)@‘)}b,\j@—

AT Gar ¥R & SIToid giuany Rigferd oS

A.The teacher’s failure to realize the gifted child’s true ability
A oSU S sl (e S (bl 1S Candla s (S s 00 adal

B.UfcIHTa el g gt Srciall Had Hd YUdy 9 WIhRUIN Sl A4q0f

B.The gifted child’s reluctance to seek and accept help
B. S (S o adiali pe S sl sl 00 (S 23

C . TfrURiTs Gar=i arTodTd fRiee i sHavdr

C.The teacher’s feelings of inadequacy in dealing with the gifted
C.olulual S g HSU S sl (e e gl S a3

D. ST GereaT ¥ad: =01 SIS [Hesfdudre &
D.The gifted child’s ability to get along on his own
Ddﬁphé:ﬁgiau‘fg\é@.\amw

Answer: D .Jfd{TaM A< Wd: 2T o [HSAuard! &l
D.The gifted child’s ability to get along on his own
Ddﬁphé:‘ﬁ%ﬂauﬁ\é@;a.\&d&

180 Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Roses smell sweet.

A.Roses are smelling sweet.
B.Roses are sweet smelling when someone smells.
C.Roses are sweet when smelt.

D.Roses are sweetest when we smell.

Answer: C.Roses are sweet when smelt.
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181

ferear srgeftTet OM 1 AB, Tt fBrwar 5 ¥+t smg sy Sfra=fr =11 AB = 8 &+t =g, OM

= AIT FIET.

In the given figure OM L AB, radius of the circle is 5 cm and length of the chord AB
= B cm. Find the measure of OM.

SSOM . ilad SAB = e iwB gl e Gfiw 5 gulyy o8 2 il s OM L AB IS0 i 5
S gl paslaw

Answer: A. 3 gHt
3cm
3 i s
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182

Answer:

183

Answer:

quaT Goedr gy Ao 9ol aomll F1ey AT fdast.

GET IT ON
Google Play

DIRECTIONS: Complete the series hv choosing right figure from the given choices.

=aS JaSo 88 s =S S sl K Kl pusas e bl B s tobly

Question Figures

WIT HTF!
JSa Jusl

B Rl o

Answer Figures

FeACTHIST WA HTFH AT

JSG ol 5=

2 S

!

A B

Fill in the blank with the correct article.
Ann blew a few notes on

A.the

B.a

C.an

D.No article required

A.the

C
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184 Fridw. ofe owiecd o fieeem () 30t 2o o /90 o )7 (R0 MO AEa oy
witfira Amén)
DIRECTIONS: What approximate value should come in place of the question mark (?) in the following

questions? (You are not expected to calculate the exact value)

=18 il s i L 55 S S (P LIS N e
3243 3 o A Lol

L TL R N L L ELEY
G o e A 4

o o

o a2 iy s S )

A. 4000
B. 4120
C. 3800

D. 3900

Answer: D. 3900

185 e g o, Anfexier nfoT dagmr 3amIes’ a1 dTeRI— RIS T8 HIRUT

The teacher has been glorified by the phrase—'Friend, Philosopher and Guide’ because—

RGP P TR P LW PP S P L I W C TCIVP R W

A AT SgHTd T a1 9d Agwaqul YA seirared anTdrd

A.He has to play all these vital roles in context of the society
A= U338 10l 1 Sl alad ag (el S o ydlaa Gl

B.AMduI AT 3 HedT o Ol Wiciid acied] deunids YR

B.He transfuses the high values of the humanity into young ones sitting in the class-room
B. = ULS Jiiie e silsnsd i Upe pn 028 S I el (S bl o

C.d ST HeT™ GURS 30T SRIYKITUR &0 3gd

C.He is the great reformer and patriotic savior of a nation
C_dnd%aﬂléjm%()k})}\mﬁcﬂm\h\ﬁc&eﬁa}

D. &R 94 faym @ sired

D.All the above statements are true.
D.ow g @bl alad o 5S4,

Answer:  B.HFASIIAl 3o T d a7 Wil SHaied] awoidd YRdrd

B.He transfuses the high values of the humanity into young ones sitting in the class-room
B. = LS diiie (e 05l a8 g e ps)y oIS S o) el (S il o
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186

Answer:

187

Answer:

188

GET IT ON
Google Play

‘ FesrTaesT gRT Ty d1gd! 3], a7 ATl [a=IvoT il

NG IR CE]
B.3RI

C.OY

pICIEN]

INEEIRICE

SIS 3T ST JId dTTes! Uahe! gl Sl dagT STIUT T FHoTdT
What would you assume when you perceive an isolated child in your class?

LSS LS 5 s ean S KU (e S ) Gl

ABT FRT=I 31for Tu w1 S8t 3mg

A.He is pray of frustration and conflicts
Az loSles Sre il ) ousnlass

BT TSN RUT 3R 318

B.He has inadequate socialization
B. = SL Cusdla (5 5dlae (S Gl

C.dl faay Wy yrga
C.He is day — dreaming
Coludr -

D.dl 3RIeh 3ig

D.He is delinquent
D.—dile oy

BT TSRO S{URT 3T

B.He has inadequate socialization
B. = HSU Ciala (5 il (S Gl

T [$7 HRar Bied! fUedrar Tordrd
Tadpoles are young ones of

O S o od s
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A SgH
A.Frog
A, SSiw

B.HMHT
B.Fish
B. e

C.TRUtS!

C.Torpedo
C. }59;.1)\3

D.¢d1g 3ad
D.Polar Bears
D. &0 s

Answer: AQW
A.Frog
A S

189 L RECIEREAC G s | [—— !

C.g7d
D910 Id

Answer: D.CITaﬁ ﬂ'qv
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190 I S1dqul ufkwe Fafor Hroarret, @ faaet (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIeh M
TR &1; IR @TelTd gt ST .

P. UR[U& S8 WTul aRT 31 Urd, RIGR oxrei g1 Ylaues UTgd Uil Hedyd Al SUSH Rl
Q. T feaxft, us Mot 3nfor wifaa=mmelt RIeR H=1 T I=mear AR U1ad gia.

R. TEaR USTMR el RIGR! H RIGR e S,

S. AT dl B 3HTg."

T. el FRIGR HAT SR Sl : TAT U] ST U1ad gidm 3707 Ul thad JIUIRITST 41ad Bidl.

R BedaR WIaieie! BIurd aie ufge 3a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. A herd of goats watching this mocks the hound, saying that the little one is better than the beast.

Q. One day, a strong and powerful hound was chasing a hare.

R. After running for a long time, the tired hound gives up the hunt.

S. That is the difference between us.”

T. To this, the hound responds: “The rabbit was running for its life, | was only running for dinner.

Which of the following should be the FIRST sentence after rearrangement?

ostes @l O by (P)e (Q)¢ (R)« (S) s (T) wsllsm =8 23 29 e« imad i o jlsn A S iy |y e b S
—anole S

P. =l = sila paon Y Usen SO AS S0 o0 &I S S5 (S LS S (5 50,

Q. Wb Slean SR A S8 sl )l b suae Sl ¢ 0 S,

R. Lo Sen K3 5 8L Sgbcamy S 535580050 3y,

S. = BA U S s e s

Toosn by Sle A S S ) JB (e o o L) Sl A S ol Gl RA" 1 a0 S ¢y e,

?5‘:’\% L‘}:’ Cl?:“d"“; Lo S 2 cs C—‘:’A CTTgX "JL.‘)J

A.Q
AQ
A.Q

B.R
B.R
B.R

C.S
C.S
C.S

D.T
D.T
D.T
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Answer: A.Q
A.Q
A.Q
191 qEaT TelTe UeATd, Eoedr Taiaygs Aaaae TROIRT AT fHast

DIRECTIONS: In the question below, select the related figure from the given altematives..

Problem Figures Answer Figures
@47 a4k
(A) (B) (C) (D) (1 @ @) (@)

A1

B.2

C.3

D.4

Answer: A. 1

192 YRAW 3 a8 I AR & gid —

The financial year in India starts from the month of —

= U g o e Fllle e @l

ATgaR!

A.February
Ao

B.HRS
B.March

B..~zo
C.ufld

C.April
C.—diy
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D.°
D.May
D. s

Answer: C.Q@IFT
C.April
C.—~diy

193 2 AT Ul fobrd . 240 3118 31101 20 It U=l fhHd 3.160 3. Ial U= fhwde Areh? U==n
fhodi=lt Sraeial UlR =me.

Cost of 2 marker pens are Rs. 240 and cost of 20 cello pens are Rs. 160. Find the ratio of the cost of a
cello pen to the cost of a marker pen?

2 el IS Caaid (S Al gl (e allie S A8 S e Sl o2 160 ~as) Sl (S ol sl 20 55 240 ~ms) el (S HB Sl
$0a S aslee

A.1:20
A.1:20
A.1:20

B.1:15
B.1:15
B.1:15

C.15:2
C.15:2
C.15:2

D.20:1
D.20:1
D.20:1

Answer: B.1:15
B.1:15
B.1:15

194 oot Jeslt A1 I TR FHal S

The filament of an Electric Bulb is made up of:

.L_)UJT\L'\;CM Giinadd 1S s S S
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Answer:

INEEAE

A. Nichrome
Alps S

B.die

B. Copper
B.Ll

C.SRiferad

C. Duralium
C.adl 3

D.3eA
D. Tungsten
D. . ~~J, /S L

D.¢TReA
D. Tungsten
D. . ..J: /s L

GET IT ON
Google Play

195 G TRifae M8 &I, THUT 3N1aTT deddl cahdR] Sit ard- HRUA fAYUT 3 Ydhd HRUT IRd ard- o1

faRTY 81 3= UL Sy bl

Research has shown that the percentage of the total study time which could profitably be devoted to

recitation as opposed to rereading could be as high as—

ooy o S L LS iy S aalllae (e s S 385 —n ams 2 1S iy S palllae JS S il nh s (Bl
P

A.20 Fh

A.20 per cent
A.20 2= 2

B.40 Ta%h

B.40 per cent
B.40 2=

C.60 Td®h

C.60 per cent
C.60 2a 4

D.80 ¢IPh

D.80 per cent
D.80 x= 8

Answer: D.80 Cd®
D.80 per cent
D.80 xa 8
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Answer:

197

GET IT ON
Google Play

I gUTe 3RY UHHB A JHIMR 39d @), o Ufafds TR sidid A T 3ad! 3

Two plane mirrors are kept parallel to each other, the number of images formed will be:

S aland Syt Mg I Gae ol com 84S ) st S £ s SO T Gy g

A2
A.2
A.2

B.4
B.4
B.4

C6
C.6
C.6

D. 310
D. Infinite
D.asasay

D. 3RO
D. Infinite

D_J}AMY

Saa ufaeeTe IR 3MTR-
The objective of Biosphere Reserve is-

030 Y4l b Biosphere Reserve — i S-

A TIEATIE gt HTOT UTUgi= TR EfOT R0y

A.Preservation of flora and fauna of forest land
A i S Gse S Gae S ol 50

B.g=g IdTeATd TRNY 31707 fasrg

B.Research and Development of forest product
B. (85 S e sias (S Sin )l Gl

C. Y TG HRNY 0T fdepT™
C.Research and Development of agro- product
C. &f5 S dlesuan-Jel ) Hsl gorw
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Answer:

198

Answer:

199

D. Ut Id
D.All of the above
D. s s G2e Yl a2

D. Ut Id
D.All of the above
D. s s 2o Yl a2

47, 1886 ol IGAR 3MTE, 4 A, 1887 Ush BT TR 3RT?

Sunday falls on 4" May, 1886 what will be the day on 4" May, 18872

4985 2L S 1887 (v 4 5i- = )5 S 1886 (o

A FHAR
A.Monday
Ay

B.HTdR
B.Tuesday
B. &

C=dR
C.Thursday

BRIEEIN
D.Saturday
D. s

A HHAR
A.Monday
Ay

yfaurus faemdf e/ sia

A gifted student will be

€ ale (s Y15 adad

AT TRSESd 3RTa! 900

A.non-assertive of their needs
AN 0 )0y Gy e

GET IT ON
Google Play
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Answer:

200

Answer:

B.Rrerpiar fAR e

B.independent of leaches

C.IHEM fddd

C.introvert in nature
C.om us bk

D.Xad=qur Aol o

D.independent in their judgment

D.Y ) e Alad =

D. T fufg S

D.independent in their judgment

D.3J e Alaid

R o ® o e HaAT e —

Pinarayi Vijayan is the Chief Minister of —

on el ) oy S

AFAlcH

A.Karnataka
A .S <

B.don

B.Telengana
B. ~&als

C.dMfHesrg
C.Tamil Nadu
C.s36 Jda

D.RS

D.Kerala
DA<

D.BRS

D.Kerala
D.A S

GET IT ON
Google Play
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